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Question Number : 1 Question Id : 7532292835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Eight friends Rakhi, Jinat, Rashmi. Seema, Tilak, Umesh, Varun and Ram are sitting at equal distance to each other
around a circular dining table, facing the center. They are facing each other. Two girls or two boys are not sitting
together. Varun is sitting in front of Umesh. Ram is sitting to the right of Jinat. Rashmi is sitting between Varun and

Tilak. Seema is sitting opposite to Rashmi. Umesh is sitting between Seema and Rakhi. Who is sitting to the immediate

left to Rakhi?
Options :
1. % Jinat



> % Ram
3 « Umesh

4. % Seema

Question Number : 1 Question Id : 7532292835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Number : 2 Question Id : 7532292836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a class consisting of 81 persons. Raghu ranked at 20th position from the top. Raghu’s friend Shivam ranked 16th

from the bottom. How many students ranked between them?
Options :
1 ® 43

) o 45
3 % 47
4 % 49

Question Number : 2 Question Id : 7532292836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

81 zuferaal #1 ver Fam #A, 7Y MY | 203 T W g1 7g # 37 Ramw F=r § 163 vora W g1 375
o fFaer oEt & 7 fTar e

Options :
| % 43
2. 45
3 % 47

4 % 49

Question Number : 3 Question Id : 7532292837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the Venn diagram that best illustrates the relationship between the following classes.

Teachers. Singers. Husbands

Options :

1. % : :
2. ¥ %

3 % O

4. ® .

Question Number : 3 Question Id : 7532292837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

QBBE

Question Number : 4 Question Id : 7532292838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the correct conclusion that could be drawn from the given expression.

N>=>R=2T>F=Z<5<U
Options :
1% T=5

7 ® IN=5
3. -4 R:Z:-L‘.-

4.« Z=U

Question Number : 4 Question Id : 7532292838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 Ter oy gﬁ'@, Fr BT 91T =Oas ¥ AT 31 Gar 2

N>Rz=2T>F=2Z2<5=<U
Options :
1 ® T<S

) w N=8
3 & R=>U

4. v Z<U

Question Number : 5 Question Id : 7532292839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
From among the given letter clusters choose the one which fill in the blanks in the following series to form a logical

sequence.

ab dee bbcd fabbcdee ~ bedee cdeef

Options :
1. % bbaeabfabcfef

> % bcfetbaeabfab
3 % bcfefabfabbae

4 « bcfasefabfabb

Question Number : 5 Question Id : 7532292839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few 71T 3R Wl # ¥ 38 & # ghav, ow Aeafaild guer & oa sue J wEe & 8 ™
e R IE YT H TH dlieheh HH H 0T S

ab dee bbcd fabbcdee = bedee = cdeef

Options :
| # bbaeabfabcfef

> # bcfefbaeabfab

3 # bcfefabfabbae



4« bcfaeefabfabb

Question Number : 6 Question Id : 7532292840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a code language, 'SLICE' is written as *TJLYJ". How will ' CIRCUIT ' be written in that language?
Options :

1. ® DGUZACA

, ® DGUZCZA
3 ® GDUZZCA

4 v DGUZZCA

Question Number : 6 Question Id : 7532292840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U FE AT H, 'SLICE' & ‘TILYS & & & fo@m rar g1 38 % & & ‘CIRCUIT &t fow &9 &
forar Sree?

Options :

1.« DGUZACA
» # DGUZCZA
, » GDUZZCA

4. v DGUZZCA



Question Number : 7 Question Id : 7532292841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ritesh started from his home to school. He walked towards east for 30 meters and then turned left and walked for 100

meters. He again turned left and walked for 150 meters to reach to his school. In which direction is his school from his

home?
Options :
1 # South-east

7 % North-east
3 #® West

4 « North-west

Question Number : 7 Question Id : 7532292841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reer 39a o & Fpar & e fwer) 37 q@ @ 3w 30 Hew =er iR v 917 gsax 100 Hex =
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Options :

] ® aﬁﬁmt@'
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Question Number : 8 Question Id : 7532292842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The word 'mathematics’ is related to the word 'intelligence' in the same way as the word 'singing’ is related to:
Options :

1. % Music

) ® Song
3. Al

4 % Singer

Question Number : 8 Question Id : 7532292842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9eg WO (mathematics)', eee ‘giaHedT (intelligence) & 38 YR Fald g, oF TR g 710
(singing)', 2reg ' g geiag gl

Options :

|« & (Music)

, » Fa (Song)



, v e (Ar)

4 % T (Singer)

Question Number : 9 Question Id : 7532292843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the option which represents the logical sequence of the following words.

—

. Selling

I

. Proofreading

Laa

. Submitting

4. Binding

Ln

. Tvpesetting
6. Printing

7. Writing
Options :

1 % 32,34, 1,67

233 5-.2564 ?n35—1'.l
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Question Number : 9 Question Id : 7532292843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECRCEI T IT I st TafeTEg oeat & afes &7 # [N Far &
1. BfeET(Selling)

2. gBdTse (Proofreading)
3. EfATET (Submitting)
4. =39 (Binding)
5
6
7

. TETHTET (Typesetting)
. ®f&=T (Printing)

. TefeEeT (Writing)
Options :
[ #5,2,8 41,867
2. % 5: 2: G: 7: 3: 4! 1
v 58,5 2841

4. % 3: ?r 5: 2: 6: 411



Question Number : 10 Question Id : 7532292844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following words are alike in a certain way and one is different. Pick the odd one out.
Options :

|« Brass

> # Gold
3 w Silver

4% Mercury

Question Number : 10 Question Id : 7532292844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed IR Teal 7 ¥ i te Ffdd adie 3 91a 3 3R U 3rRT1d 31 99 3ETa sk ol 99 Bifrg|
Options :

1w SN

5 % TS
3.**5&'&’T

4 % TDHA

Question Number : 11 Question Id : 7532292845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Three of the following four letter-clusters are alike in a certain way and one is different. Pick the odd one out.
Options :
1 % HISR

, % OPLK
3 % VWED
4 v FGVU

Question Number : 11 Question Id : 7532292845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFfRfET ox seR-meE 7 ¥ O s AReg als ¥ woa € 3R o 3w g1 39 HEed 3ET-
THE F TIS AT

Options :
| % HISR

, % OPLK
s » VWED

4 v FGVU

Question Number : 12 Question Id : 7532292846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the figure that will replace the question mark (?) in the following figure series.

- .'.‘.
D] [@][][&
i |

Options :

. 8 " @
1. %

@ * 9
2. % "

P

3. "



Question Number : 12 Question Id : 7532292846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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OIEIERENE
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3.¢

. o0
Question Number : 13 Question Id : 7532292847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third figure in the same way as the second figure is related to the first figure.

RSO

Options :

lu.




Question Number : 13 Question Id : 7532292847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 14 Question Id : 7532292848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the pair of figures amongst the option figures which has the same characteristics as the two given figures.

'

Options :

A
\ V/



Question Number : 14 Question Id : 7532292848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 15 Question Id : 7532292849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Three of the following pairs of figures are alike in some way and one is different. Choose the odd one.
Options :

1u-
2u| | |




Question Number : 15 Question Id : 7532292849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fawear # a2 av faws wgpfo-geat # ¥ 99 77 Fdr a@ @ 99 §, 3N U 369 g1 39 FEE
HTPIA-TIA HT =TqA HISC|

Options :

&



Question Number : 16 Question Id : 7532292850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the figure amongst the option figures which has the same characteristics as the figure given below.

Options :



DO O D

Question Number : 16 Question Id : 7532292850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

DO O D



Question Number : 17 Question Id : 7532292851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct water reflection of the given letter combination.

AlLLTogatherWell
Options :
| % llsWisriisgoT1IA

» « VITLOBI{PELME]|
3 % VITL1089fpeiwell

4 lI2AMJYIeSo | TIV

Question Number : 17 Question Id : 7532292851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A BT 71T 3eT §Oiaa & HEr Fof giafew & mua fifFw

ALLTogatherWell
Options :
| w llsWisrifsgoT1IA

» « VITLOBIfPELME]|

3 % VITLOB9fpeiwell



4 % IIPMIYIeBO [TV

Question Number : 18 Question Id : 7532292852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given alternatives, choose an approximate value which would replace x in the given expression.

3.890f3+20+4+5-1=x
Options :
1w 47

4.¢ 12

Question Number : 18 Question Id : 7532292852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 71T Faeat ¥ § 3T 9T A9 &7 I8 #0755 =09% 7 x & TIE 97 30|

3.89 of 3+20 + 4 + 5§ -1= x
Options :
| = 47
) = 43

3 % 30



4.¢ 12

Question Number : 19 Question Id : 7532292853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From among the given alternatives choose the correct sequence of arithmetic operators which when placed in place of *{@” in
the following expresszion will solve the equation.

15@4@2) @U@ G@3) @0
Options :
1. # X: +:- ::+7 T ag
2.¢~$+7 :-x:'—'_:::_
X,y + o o=

Question Number : 19 Question Id : 7532292853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fer or et 7 & oo fEst = amaﬁvmﬁmmﬁ & T 9T
Wmﬁmmﬁmﬁgm L
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Options :
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Question Number : 20 Question Id : 7532292854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the digits of each of the following numbers are reversed and then the obtained numbers are arranged in descending

manner. which number would be the third?
467, 296, 274, 902, 876, 724

Options :
1. % 296

2 876
3 % 724
4 % 476

Question Number : 20 Question Id : 7532292854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I AT § ¥ 9o0s 60T & 3T F 3a¢ 6 J0 31K g gt & a0 5 A
qAeiatEyd T se, & i @ #Ear S T 9T HE?

467, 296, 274, 902, 876, 724




Options :
| % 296

, » 876

s % 724

, = 476
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Show Attended Group? :
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Group Marks :
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 753229187
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 7532292855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Governor of Nagaland was transferred as the next Governor of Tamil Nadu in September 2021
Options :
1 # B.D. Mishra

» « Ravindra Narayan Ravi

3 % Biswabhusan Haricha

4 % Jagdish Mukhi

Question Number : 21 Question Id : 7532292855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT & T=T9Tel ﬁﬁl?iﬁ?2021ﬁ'aﬁﬁﬁg’#aﬂéﬂaﬁwmﬂ?mqﬁmm
ITT 2T
Options :

1 ® arEr T

5 v Tdig aRmEeT I
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Question Number : 22 Question Id : 7532292856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

new judges. including three women, have been administered the oath of office as judges of the Supreme Court of
India (SCT) by Chief Justice of India (CJI) NV Ramana in August 2021,

Options :
1.¢ 2

) # 10

Question Number : 22 Question Id : 7532292856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Jr Afgerat w@fgg AT Fararedtelt F 3ETEd, 2021 F HNT & HET SO (CJI) T
=T TN 8RS & Fared =aamerd (SCl) & =amamdel & & & ug Fr quy s 78

Options :

1.¢ 9

> % 10



4.8 7

Question Number : 23 Question Id : 7532292857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many young women were awarded the Women Excellence Award 2021 in Science and Tech by SERB (Science
and Engineering Research Board)?

Options :
1 ® 3

2.¢ 4

Question Number : 23 Question Id : 7532292857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SERB (e 3 3oy sguara 818) ganr fhaer gar Afgonstt & faae A dwdes 7 Afgen
Jepeedl qWERR 2021 (Women Excellence Award 2021) ¥ FATAg har ar?

Options :
1% 3

) v 4



Question Number : 24 Question Id : 7532292858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was awarded the Alexander Dalrymple award by the British Government for his work in hydrography and nautical
cartography in 20217

Options :
| % NN Pillai

> % Kaushik Basu

3 « Vice Admiral Vinay Badhwar

4 % Syed Osman Azhar Magsusi

Question Number : 24 Question Id : 7532292858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

eafofea & @ 8 iy @R g@rr 2021 # gsgendr #AR Alfcwa FEfEThr F 3% 14 &g
FFA SANFIA [WEFR (Alexander Dalrymple award)® TFaATad fasar =mar?

Options :
1 #® UedUod EES

Zw#ﬁﬂ%a'g
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Question Number : 25 Question Id : 7532292859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The construction of Lomarishi and Sudama caves in Barabar Hills (in the present day Bihar ) was done by
Options :

1 # Bindusara

7 « Ashoka

3 % Chandragupta

4 % Dasharatha

Question Number : 25 Question Id : 7532292859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
seY foew (F0RE e #H) # d\y 7o AR geEr Wit Fr T Zamr TR aar A

Options :

| x HegER

) v 3




4 % GRRY

Question Number : 26 Question Id : 7532292860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the three Buddhist doctrines which were taught in Nalanda?
Options :

L% Vajravana

, % Mahayana

3 % Theravada

4  Brahmacharya

Question Number : 26 Question Id : 7532292860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATeleT # Aeafotaa # ¥ g g 79 Fr f&@ew 78 & o o9
Options :

| ® ST

Zggm

3.331\113'@



4 v TEAE

Question Number : 27 Question Id : 7532292861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Phag, Daph. Dhamal, Ioor and Gugga are folk dances of which state?
Options :

|  Haryana

o % Bihar
3 % Uttar Pradesh

4 % Mizoram

Question Number : 27 Question Id : 7532292861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
GTET, 31, UATH, o AN T FH 07 F 9F g7 87
Options :

1. ¥ Ei[ o

) » WER

3 ® 3cal 9ar
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Question Number : 28 Question Id : 7532292862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Gangaur is a colorful festival, during which the womenfolk of worship Gauri, the wife of Lord Shiva.
Options :

| % Gujarat

»  Rajasthan

3 % Karnataka

4 % Chattisgarh

Question Number : 28 Question Id : 7532292862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AUENR T F OER g, 5w ga A AT s 7 A ger A Hr o= = E
Options :
LIS RG]

1%-5 -

7 o =TEATA



Question Number : 29 Question Id : 7532292863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Charter Act of 1833 was passed in the British Parliament which renewed the East India Company’s charter for
another years.

Options :
1. % 10

Question Number : 29 Question Id : 7532292863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

18\ F o N Rt s a o e o T SEe s R s F aer wr AT
Iut &% O FEEga & )

Options :

1 % 10

2« 20
3 % 15

4.% D



Question Number : 30 Question Id : 7532292864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Treaty of was signed between the British and the Holkar chief in 1818.
Options :

1« Mandasor

, % Wadgaon

3 % Yandaboo

4. % DBenaras

Question Number : 30 Question Id : 7532292864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1818 # fafeer war 3R geat v F &= @I @i 9 gEaer U v a9y

Options :

| v FCER
) % TSI

4 % SdAH



Question Number : 31 Question Id : 7532292865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT one of the consequences of Earthquake?
Options :

1 # Landslides and Avalanche

> % Tsunami
3 % Floods

4  Cyclones

Question Number : 31 Question Id : 7532292865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fr=fefEa d 9 #ia a5 g7 & Rt F & v g g2
Options :

. HFEes AR FErees

l.

Question Number : 32 Question Id : 7532292866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

What is the estimated change in GDP during the financial year 2020-21, as per the Ministry of Statistics & Programme
Implementation?

Options :
1 ® 1.3%

) - (minus) 7.3%
3 % 0.6%
4 % -(minus) 4.9%

Question Number : 32 Question Id : 7532292866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WTETH 3 FAFA FAeadad AT F HJAR Fedra a9 2020-21 F R FFhal 2o 3c016 (GDP)
# HgAfag aREaa fenaer g2

Options :
| % 1.3%

5 - (FUcHF)7.3%
3 = 0.6%

4, % - (FUTcH®)4.9%



Question Number : 33 Question Id : 7532292867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per a study released by the Centre for Sustainable Employment at Azim Premji University in May 2021, how many
additional Indians fell below the national minimum wage poverty line in 2020-20217

Options :
1 % 200 million

7 « 230 million
3 % 250 million

4 % 273 million

Question Number : 33 Question Id : 7532292867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
7S 2021 H 3=TH 98=T feafacaey & HeT B A9 TECaigde daNT AT UF Jeadd F
FFER, 2020-2021 # Fraet sfaRea s T~da #g7an #aigdr e @1 & = 37 970 87

Options :

| % 200 TEfew=

, v 230 R
s % 250 fafems

4 = 273 AT



Question Number : 34 Question Id : 7532292868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the Act passed by Parliament which came into effect on 27 April, 2021 and radically diluted the powers of the
elected government and Legislative Assembly of Delhi, and christened the Lieutenant Governor as the "government” of
Delhi.

Options :
| Government of National Capital Territory (GNCTD) of Delhi (Amendment) Act

, % Emergency Governing Provisions of Delhi (EGPD) Act

5 % Lleutenant Governor of National Capital Region (LGNCR) of Delhi (Amendment) Act

4 % Good Governance of National Capital Territory (GGNCT) of Delhi Act

Question Number : 34 Question Id : 7532292868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HHE TR WIRE 38 AHOfATs F A aaEe S 27 3w, 2021 F A g 3R g fewd A
e TR 3R Tue o & oftaat = ST w7 ¥ 37 W B 3R s & T fr
"IHR F T H ATAT BT

Options :

Nrr@zrmm;ﬁmﬁ?oﬁm{emmmmmaﬁm

, x (ool & AT TS 9N (EGPD) sfafaas

s » Goel F T TR 81 FF IWeT9 (LGNCR) (Feivers) sfafaas



, v [Goel & TSE T SN H G (GGNCT) st

Question Number : 35 Question Id : 7532292869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is a body set up under the Constitution of India?
Options :

| % National Human Rights Commission

» % National Commission for Women
3 « National Commission of Scheduled Castes
4 = Central Vigilance Commission

Question Number : 35 Question Id : 7532292869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F=Rfa 7 ¥ Fi7 @ 9T & gfus & gga waig v Fem 22
Options :

| % TS AASIERRR AT

) ® Wmm

3}@3@@@?@%%



4. ® HErT Fdhdl AT

Question Number : 36 Question Id : 7532292870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India won 7 medals at Tokyo Olympics in 2021. What was India's rank in the medal standings as per total medals?
Options :

1.v 33

) ® 41

Question Number : 36 Question Id : 7532292870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qTT & 2021 & 2 Miee 7 7 95 S %ol IR & FHTHT TEeh cAlToren! H 8RS &1 T Hie
T 417
Options :

| v 33ar

5 % 41T

3 % 38T



4 % B4ET

Question Number : 37 Question Id : 7532292871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following teams was a part of Group F (dubbed the 'Group of Death') in the European Championship in
20217
Options :

1 # Slovakia

,  Hungary
;3 » Czech Republic

4 % Finland

Question Number : 37 Question Id : 7532292871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefaf@a # & aia @ &5 2021 # iy APl & 9 F (B8 99 316 37 &g 51ar §) &
fesar o7

Options :

I.Wm

2.9 g a

3 % U IR



. feerds

Question Number : 38 Question Id : 7532292872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following events was a world record not broken at the Tokyo Olvmpics in 2021.
Options :

| % Weightlifting

» % Sports Climbing
3 High Jump

4 % Hurdles

Question Number : 38 Question Id : 7532292872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gl Hafus 2021 & Arafoi@a J ¥ &y sfawqar F &g Rer 78 e

Options :



, « E5eW

Question Number : 39 Question Id : 7532292873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following water bodies separate the Andaman and Nicobar islands from each other?
Options :

| TenDegree Channel

o % Gulf of Mannar
3 % Palk Strait
4 % Aegean Sea

Question Number : 39 Question Id : 7532292873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Teff@e 7 & a9 @1 o9 Ty a3 FeEr @ aagl # 0F gEy ¥ A #aT 82

Options :

1.\-/23'%%
5 % FeAR T WEr

3 # U TASHEHACY



, x SToTOe WRR

Question Number : 40 Question Id : 7532292874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

s the branch of physics which is concerned with light and its behavioural pattern and properties.
Options :

| % Thermodvnamics

o % Mechanics

3 % Electromagnetism

4 Optics

Question Number : 40 Question Id : 7532292874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

siifas = 7 g8 @ § o HT9T U, 306 S9N Y faewarst & sreuas G

ST &
Options :

Lw?@'l?ﬁ?ﬁ'

L TR

ECUCEECTE



Arithmetic Ability

Group Number : 3

Group Id : 753229157
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 753229157
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229188
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 7532292875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



. (1.69)%-{1.39)°
Y qg0a—1.39

Evaluate

Options :
1 % 0.30

Question Number : 41 Question Id : 7532292875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & g ST

(1.69)%-(1,39)
1.69-1.39

Options :
| % 030

, « 3.08
3 % 0.32

4 % 3.8

Question Number : 42 Question Id : 7532292876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Determine which of the number given in option iz divisible by 6.

Options :
1 % 453014

5« 432012
3 % 452301

4 % 450125

Question Number : 42 Question Id : 7532292876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faereat & & a5 AEut # @ wiw O dEur 6 ¥ fFurew g
Options :
| % 453014

, v 432012
s % 452301

4. % 450125

Question Number : 43 Question Id : 7532292877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the greatest number which divides 462, 924 and 1386 exactly?



Options :
|« 462

, % 1386

3 % 151

Question Number : 43 Question Id : 7532292877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3¢ 95 ¥ I TEA AT AT, S 462, 924 HT 1386 T oI RsniEa w72

Options :
| v 462

, « 1386
s % 151

4 % 231

Question Number : 44 Question Id : 7532292878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify: 42 — [9 — {6 — (10 —4-3)}]
Options :

1. % 10



7 « 30

Question Number : 44 Question Id : 7532292878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

F & T ST

42 —[9— {6 —(10—4-3)}]

Options :
| % 10

7« 30
3 % 40

4 % 20

Question Number : 45 Question Id : 7532292879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of :

(32 +4)+ 3+ (10 —4) X5
Options :



_.
b
LN
—

Question Number : 45 Question Id : 7532292879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& &1 A9 A9 HI=T:

(32 + 4) +3 + (10 =4} % 5
Options :
1 % 51

% 71
3 41

4. % 31

Question Number : 46 Question Id : 7532292880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 20% of a = 80, what is the value of 'a' ?
Options :

1 ® 200



5 & 400
3 % 800

4 % 600

Question Number : 46 Question Id : 7532292880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I a FT1 20% = 80 §, & 'a’ F A AT H=AT|

Options :
| % 200

5« 400
3 % 800

4 % 600

Question Number : 47 Question Id : 7532292881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A grocer had some potatoes. He sells 20% potatoes and still has 160 potatoes left .How many potatoes did he have
originally ?
Options :

|« 200 potatoes



) ® 400 potatoes
3 % 280 potatoes

4 R 320 potatoes

Question Number : 47 Question Id : 7532292881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TENT & ITH FG HTel Al g 20% e[ 99aT g AR 3TF a8 3wah o 160 376 9= §| 3HF 9H
Hord: fehdel el & ?

Options :

200 379

1.

, « 400 319

s« 280 31

4« 320 319

Question Number : 48 Question Id : 7532292882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a’b:7/3 , then,

what is the value of (7a+9b) /(7a-9b)
Options :



Question Number : 48 Question Id : 7532292882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
I a/b:7/3 &, (7a+9b) /(7a-9b) FT HIT AT ST

Options :
| v 38/11

> % 11/38
3 % 4

4. % 3.8

Question Number : 49 Question Id : 7532292883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ravi invested 625 and in 2 years he received Z 51 as compound interest. Find the rate of interest (R).
Options :

| % R=5%



7 « R=4%
3 % R=4.5%

4. % R=3%

Question Number : 49 Question Id : 7532292883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & 2625 F o9er fFar 3R 2 991 A 3¢ B TS TS F FT H o9 gU1 WS H R (R) A
AT

Options :
| % R= 5%

» v R=4%
;. % R=4.5%

4 = R=3%

Question Number : 50 Question Id : 7532292884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between SI and CI for 2 vears (@ 20% per annum is 9. What is the principal?
Options :

| % 2200

» ® 3250



Question Number : 50 Question Id : 7532292884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
20% M T ¥ 2 a9 & forw Aemor s (SI) 3R mRgfe s (Cl) & &= &7 AW 9 g1 Jqaeud
T T

Options :
| % %200

, % T250
;v 3225

4, % 3325

Question Number : 51 Question Id : 7532292885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A tap A can fill a cistern in 4 hours and the tap B can empty the full cistern in 6 hours. If both the taps are opened
together in the empty cistern, in how much time will the cistern be filled up?

Options :
1. ® 5 hours

7 « 12 hours



3 % 8 hours

4 % 3 hours

Question Number : 51 Question Id : 7532292885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST A TH TH A 4 T FH 5T ThaT ¢ HR 7o B Ir 57 SFr Y 6 5T H Wiew X TehaT &1 TG S
el T @O TH H TH TIY BT AT AT, O S hds THT F 81X A

Options :

| % 5

, v 12 g
;% 8T

4. % 3 Oe

Question Number : 52 Question Id : 7532292886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car travel 90 km in | hr 30 minutes. In how much time will it cover 200 km?
Options :

1. # 2 hr

> % 1 hr30 min



3 ® 4 hr

4 « 3 hr 20 mins

Question Number : 52 Question Id : 7532292886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v FR 1 9 30 e # 90 km F gfr T¥ FIA 1 TE 200 km F gl T wHT F T¥ FEM?

Options :
L% 2 ®E

, » 1 ®9¢ 30 fAae
3 % 4 g

4 v 3¢ 20 e

Question Number : 53 Question Id : 7532292887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average of cubes 0f 3. 4,2, 1,5 is
Options :

1. % 35

7 o 45

3 #® 40



b
b
N
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Question Number : 53 Question Id : 7532292887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3, 4, 2, 1, 5 F ual & 3itgg 79 A=w)
Options :
1. % 3b
2.« 45
3 % 40

4 % Db

Question Number : 54 Question Id : 7532292888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the area of the shaded region



Options :
[ ® 290 sq .cm

2958.88 5q .cm
3. % 206.57 sq .cm

4 298.575q .cm

Question Number : 54 Question Id : 7532292888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

sy B # oanfea 9w 1 8 na A9 fifSw)
Options :
| % 290 sq .cm

, » 298.88 sq .cm

; = 296.57 sq .cm



4 v 298.57 sq .cm

Question Number : 55 Question Id : 7532292889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the Area of the figure.

3in

Options :
| % 24sqinch

» « 27sqinch
3 % 17sqinch

37 sq inch

Question Number : 55 Question Id : 7532292889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Options :
| % 24 sq inch

, « 27 sq inch
; = 17 5q inch

4 % 37 sq inch

Question Number : 56 Question Id : 7532292890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A bucket is in the shape of the frustum of a right circular cone as shown in following figure. Find the lateral surface area
of the bucket.

Options :
L& 674.657 sq.cm

) % 673 sg.cm
3 % 647.65 sq.cm

4 % 648 sg.cm

Question Number : 56 Question Id : 7532292890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TE Feel A G AT A F A o9 g 9% F OeeAe & R H g Aeer H M T
8ISe AT HIT=AT|

Options :
| v 674.657 sq.cm

, » 673 sq.cm
, » 647.65 sq.cm

4 » 848 sq.cm

Question Number : 57 Question Id : 7532292891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A ball with radius 15.4 cm is to be covered with paper.

How much paper will be needed?
Options :



| % 2891.44 5q .cm
) 298L44sqem
3 % 2051.44 sq m

29544 sqm

Question Number : 57 Question Id : 7532292891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
15.4 cm =T I T € & FET § T =0 2

ghes forw foeas e & AT gesar geire
Options :
| % 2891.44 sq .cm

, » 2981.44 sq cm
; » 298144 sqg m

4 % 298.44 sg m

Question Number : 58 Question Id : 7532292892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The table below shows the number of the refrigerators that were sold by the showroom in the years from 2016 to 2020.
Answer the below questions based on the information given in the table.

Observe the given table and

YEAR
S

2016 | 183 123 277 167
2017 | 178 272 267 95
2018 133 161 226 176
2019 | 278 272 213 284
2020 | 168 172 112 34

A B C D

What was the difference in the number of refrigerators sold by showroom B in the year 2020 and showroom C in the
year 20197

Options :
1. % 51

2. ¢ 4l
3 % 61

4. % 31

Question Number : 58 Question Id : 7532292892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



forrT anforerr 2016 ¥ 2020 I F Iut & N oIFH FRT 99 91T IF=iedl Fr TE&AT F 2T 2
Ao & &1 9 FFFNT & HUR T F2AT & 3ca e’

A &1 TS ATTeIRT FHT TR HITST]

EL) A B = D
2016 | 183 123 277 167
2017 [ 178 272 267 95
2018 [ 133 161 226 176
2019 | 278 272 213 284
2020 | 168 172 112 84
¥ 2020 # MEH B TaRT 3T 9T ey HR 9 2019 # o0RFd C anT 3= v Ifhaedr & g

7 fraar 3ag o
Options :
| % 51

2. v 41
—-

4 % 31

Question Number : 59 Question Id : 7532292893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The table below shows the number of the refrigerators that were sold by the showroom in the years from 2016 to 2020.
Answer the below questions based on the information given in the table.

Observe the given table and

YEAR
S

2016 | 183 123 277 167
2017 | 178 272 267 95
2018 133 161 226 176
2019 | 278 272 213 284
2020 | 168 172 112 34

A B C D

How many percentages of refrigerators were sold by the showroom D in 2018 less than the showroom A in 20197
Options :

1.« 36.69 %

o #% 3821 %

3. % 30.69 %

4. % 32.69%

Question Number : 59 Question Id : 7532292893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



forrT anforerr 2016 ¥ 2020 I F Iut & N oIFH FRT 99 91T IF=iedl Fr TE&AT F 2T 2
Ao & &1 9 FFFNT & HUR T F2AT & 3ca e’

A &1 TS ATTeIRT FHT TR HITST]

EL) A B & D
2016 | 183 123 277 167
2017 | 178 272 267 95
2018 | 133 161 226 176
2019 |278 272 213 284
2020 | 168 172 112 84
owH D Fr 2018 F Ifraredt B, e A Fir 2019 & Wrarle BT ¥ Fawr gfoeg &7 o2

Options :
| v 36.69%

, % 38.21%
s % 30.69%

4 % 32.69%

Question Number : 60 Question Id : 7532292894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph shows imports and exports of a commodity by a dealer.
Answer the questions based on the given figure below.

200

Ll
&
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180
150
a 1
140 130
1 120
120 110
o0 (i i}
100 B Exporty
80 L L t
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&0 Ch1]
40
0
0
d 2003 2004 2005

000 001 200

What was the percentage increase in exports from the vear 2000 to 20047

Options :
1. ® 50% increase

7 « 150% increase
3 # 120% increase

4 % T5% increase

Question Number : 60 Question Id : 7532292894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fe s} % v SeX ganT A aFg & 3T (imports) 3R fAFTT (exports) & g2 &
T R o By & 3R W geAt & 3eax ST

180
T
A0 140
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X1
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e 1
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[ 50

50
= .
o

SO
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TY 2000 ¥ 2004 T foard # g2 i i fRhaar o2

Options :

| 50% gfx
, » 150% gfx
, « 120% 3fF
L« 75% &
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Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
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Group Marks : 20
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General English

Section Id : 753229158
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Question Number : 61 Question Id : 7532292895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Parents have an important role to play the optimum development a healthy child.
Options :

1 % about------ in

7 % for------- to



4 % with-------- for

Question Number : 61 Question Id : 7532292895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

Parents have an important role to play the optimum development a healthy child.
Options :

| # about------ in

7 % for------- to

3 o QM -ememee of

4 % with-------- for

Question Number : 62 Question Id : 7532292896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

He did well at the interview. He was immediately selected.
Options :
| = usually

,  extremely

5 % enough



4 = always

Question Number : 62 Question Id : 7532292896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

He did well at the interview. He was immediately selected.
Options :
| = usually

,  eXtremely
;. % enough

4 % always

Question Number : 63 Question Id : 7532292897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate verb in future tense to fill in the blank.
A no- war pact by the two countries shortly.
Options :
| # Wwillsign

, % Will be signing



3« Will be signed

4 % Will being signed

Question Number : 63 Question Id : 7532292897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate verb in future tense to fill in the blank.
A no- war pact by the two countries shortly.
Options :
| = Wwillsign

, % Will be signing

3« Will be signed

4 % Will being signed

Question Number : 64 Question Id : 7532292898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate verb in future tense to fill in the blank.

"We are building our own house. As soon as it is ready we out of this house.”
Options :

1 % will moved

»  Will be moving



3. % will have moved

4 % Will have been moving

Question Number : 64 Question Id : 7532292898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate verb in future tense to fill in the blank.

"We are building our own house. As soon as it is ready we out of this house.”
Options :
1. % will moved

» « Will be moving

3. % will have moved

4 % Will have been moving

Question Number : 65 Question Id : 7532292899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.
city of Lothal stood beside a tributary of Sabarmati river, close to Gulf of Khambhat.
Options :
| % The;a



5  The ;the

Question Number : 65 Question Id : 7532292899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.
city of Lothal stood beside a tributary of Sabarmati river, close to Gulf of Khambhat.
Options :
| % The:a

5  The ;the

Question Number : 66 Question Id : 7532292900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.
In River Valley Civilization people living in countryside grew crops and reared animals.
Options :
| % The :a



» % The:No word required
3 « The :the

4 % Noword required : the

Question Number : 66 Question Id : 7532292900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.
In River Valley Civilization people living in countryside grew crops and reared animals.
Options :
| % The ;a

» % The:No word required
3 « The :the

4 % Noword required : the

Question Number : 67 Question Id : 7532292901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

When the light went off, they------------ with their dinner.
Options :



|« carried on
o % carried off
3 % carried out

4 % carried away

Question Number : 67 Question Id : 7532292901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

When the light went off, they--------—--- with their dinner.
Options :
|« carried on

o % carried off
3 % carried out

4 % carried away

Question Number : 68 Question Id : 7532292902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The officer at the border post all his documents, before permitting him enftry in India.
Options :



| % lookedupon
, % gotover

3 % carried on

4  Went through

Question Number : 68 Question Id : 7532292902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

The officer at the border post all his documents, before permitting him enftry in India.
Options :
| % lookedupon

, % gotover

3 % carried on

4  Went through

Question Number : 69 Question Id : 7532292903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

You can trust her. She can your secret.



Options :
1. % have

) keep

5 % cary

4 % gulp

Question Number : 69 Question Id : 7532292903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

You can trust her. She can vour secret.
Options :
1 ® have

,  keep

3 % carry

4 % gulp

Question Number : 70 Question Id : 7532292904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In order to catch our we had to take sort breaks while climbing the mountain.



Options :
| = eye

7 « breath
3 % attention

4 % chill

Question Number : 70 Question Id : 7532292904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate option to fill in the blank.

In order to catch our we had to take sort breaks while climbing the mountain.
Options :
| % eye

2 « breath
3 % attention

4 % chill

Question Number : 71 Question Id : 7532292905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

TREPIDATION



Options :
| = apprehension

, % agitation

3 % excitement

4 colposurs

Question Number : 71 Question Id : 7532292905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate antonym of the given word.

TREPIDATION
Options :
| = apprehension

, % agitation

3 % excitement

4 colposurs

Question Number : 72 Question Id : 7532292906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

poke one’s nose



Options :
| = clean one’s nose with a finger

, % Uy to steal things

3 WUy to interfere in something

4 % help others to do something

Question Number : 72 Question Id : 7532292906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

poke one’s nose

Options :

| % clean one’s nose with a finger
, % Uy to steal things

3 MY to interfere in something

4 % help others to do something

Question Number : 73 Question Id : 7532292907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

Have your heart in your mouth
Options :
| % tohave an unpleasant argument

> % to behave in a foolish manner

3 % O be very sick

4  t0 be extremely frightened

Question Number : 73 Question Id : 7532292907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Have your heart in your mouth
Options :
| % tohave an unpleasant argument

> % to behave in a foolish manner

3 % O be very sick

4  t0 be extremely frightened

Question Number : 74 Question Id : 7532292908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.
Options :

| % Independant

»  independent
; % indipendent

4 % Indepandent

Question Number : 74 Question Id : 7532292908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.
Options :

| % independant

,  independent

3 w Indipendent

4 % Indepandent

Question Number : 75 Question Id : 7532292909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the correctly spelt word.
Options :

1« committee

) % comittee

3 % commiteg

comumitty

Question Number : 75 Question Id : 7532292909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correctly spelt word.
Options :

|« comumittee

) % comittee

3 % commitee

4 % committy

Sub-Section Number : 2
Sub-Section Id : 753229190
Question Shuffling Allowed : Yes

Question Id : 7532292910 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)



Read the following passage and answer the question given after it.

You could easily miss Drummond Street. Just west of Euston Station in central London, it's an unassuming stretch of
townhouses. basement flats, restaurants and shops, easily walked in a couple of minutes.

But look closer, and almost every restaurant and store is South Asian. Menus feature South Indian masala dosa (spiced
pancakes), Mumbai-style street food and Lahori lamb kebabs; shop windows display South Asian sweets and savoury
snacks: and there's enough spices. pulses, pickles. pastes and flours to cater an Indian wedding.

Growing up in 1980s London, my family would come here looking for what the suburbs had yet to offer. Today, more
than 30 years on as I sat in Diwana Bhel Poori House, probably the UK's oldest South Indian vegetarian restaurant and
a Drummond Street favourite since 1971, it feels like little has changed, from the wood-panelled interior to the paintings
on the wall. The food is still delicious — its chef for 30 years became the owner a decade ago and also runs Chutney's
restaurant, also on Drummond Street.

South Asians have lived in London since the mid-17th Century, when ships of the colonial East India Company docked
in the capital. However, most came in the middle of the 20th Century; many from post-Partition India, Pakistan and
Bangladesh to help rebuild post-war Britain, work in the National Health Service or as students of the diaspora. The
1960s and '70s saw the arrival of East African Asians, mainly Punjabi or Gujarati, like my family, exiled from or leaving
ex-British colonies of Kenva and Uganda. At a time of upheaxal change and occasional racism, "Drummond Street was
a literal taste of home to London's vibrant South Asian community, thanks to a small-but- growing presence of family-
run cafes and stores.

Today. practically every town in the UK is home to a South Asian restaurant or takeaway, and versions of Drummond
Street did evolve in London's suburbs: Southall in west London; Wembley's Ealing Road in the north-west; and east
London's Green Street, with grocery shops, sari stores and dhaba (roadside restaurant)- style cafes, But Drummond
Street pre-dates them all. Nowhere else captures the original South Asian experience in the heart of the capital.

Sub questions

Question Number : 76 Question Id : 7532292911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is Drummond Street located?
Options :
1. % In West London

> % InNorth London



3 « In Central London

4 % In South London

Question Number : 77 Question Id : 7532292912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the main theme of the passage?
Options :

| ® How Indians settled in London

, % Family run cafes and stores in London
5 w Indian restaurants and takeaways in London

4 + Drummond Street and Its South Asian stores and restaurants

Question Number : 78 Question Id : 7532292913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
the tone of the passage is

Options :

| % sarcastic

7 « emotional

3 % biased

4 % Humanistic



Question Number : 79 Question Id : 7532292914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The author came to London from

Options :
1. % India
> % Pakistan

3 « East Africa

4 % Bangladesh

Question Number : 80 Question Id : 7532292915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'But Drummond Street pre-dates them all'. This means that the Drummond street is
Options :

1 ® the busiest of all.

7 « the oldest of all.

3 % the liveliest of all.

4 % the tastiest of all

Question Id : 7532292910 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions



: No
Question Numbers : (76 to 80)
Read the following passage and answer the question given after it.

You could easily miss Drummeond Street. Just west of Euston Station in central London. it's an unassuming stretch of
townhouses. basement flats, restaurants and shops, easily walked in a couple of minutes.

But look closer, and almost every restaurant and store is South Asian. Menus feature South Indian masala dosa (spiced
pancakes), Mumbai-style street food and Lahori lamb kebabs; shop windows display South Asian sweets and savoury
snacks: and there's enough spices. pulses, pickles, pastes and flours to cater an Indian wedding.

Growing up in 1980s London, my family would come here looking for what the suburbs had yet to offer. Today, more
than 30 years on as I sat in Diwana Bhel Poori House, probably the UK's oldest South Indian vegetarian restaurant and
a Drummond Street favourite since 1971, it feels like little has changed, from the wood-panelled interior to the paintings
on the wall. The food is still delicious — its chef for 30 years became the owner a decade ago and also runs Chutney's
restaurant, also on Drummond Street.

South Asians have lived in I ondon since the mid-17th Century, when ships of the colonial East India Company docked
in the capital. However, most came in the middle of the 20th Century; many from post-Partition India, Pakistan and
Bangladesh to help rebuild post-war Britain, work in the National Health Service or as students of the diaspora. The
1960z and '70s saw the arrival of East African Asians, mainly Punjabi or Gujarati, like my family, exiled from or leaving
ex-British colonies of Kenva and Uganda. At a time of upheaval, change and occasional racism, Drummond Street was
a literal taste of home to London's vibrant South Asian community, thanks to a small-but-growing presence of family-
rn cafes and stores.

Today, practically every town in the UK is home to a South Asian restaurant or takeaway, and versions of Drummond
Street did evolve in London's suburbs: Southall in west London; Wembley's Ealing Road in the north-west; and east
London's Green Street, with grocery shops, sari stores and dhaba (roadside restaurant)- style cafes, But Drummond
Street pre-dates them all. Nowhere else captures the original South Asian experience in the heart of the capital.

Sub questions

Question Number : 76 Question Id : 7532292911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is Drummond Street located?
Options :

1 % In West London



> % In North London
3 « In Central London

4 % In South London

Question Number : 77 Question Id : 7532292912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the main theme of the passage?
Options :

1. ® How Indians settled in London

, % Family run cafes and stores in London

5 w Indian restaurants and takeaways in London

4+ Drmummond Street and Its South Asian stores and restaurants

Question Number : 78 Question Id : 7532292913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
the tone of the passage is

Options :

| % sarcastic

7 « emotional

3 % biased



4 % Humanistic

Question Number : 79 Question Id : 7532292914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The author came to London from
Options :
1 ® India

> % Pakistan
3« East Africa

4 % Bangladesh

Question Number : 80 Question Id : 7532292915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

'But Drummond Street pre-dates them all'. This means that the Drummond street is
Options :

1 % the busiest of all.

7 « the oldest of all.

3 % the liveliest of all.

4 % the tastiest of all
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Question Number : 81 Question Id : 7532292916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 7 g2 & G- 9T H Wied Mg FNF & FHa ag & e 2

Options :




Question Number : 81 Question Id : 7532292916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT F g2 & G- 99T F Wied 9% FNF & FE a7 & e 2

Options :

| % arl

2_¢W
3 % Ul

4 % HOTETA

Question Number : 82 Question Id : 7532292917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a7 forelt awg #r a9 7 St @1 &t e g -
Options :



urET faReoT
, » TEIETES fERoT
3 v TiETUTERER fEehoT
4 % WEATHF fFeor

Question Number : 82 Question Id : 7532292917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Iz foret avg Fr a9 a1 Je & Sy Far -
Options :

agmmwﬁ*a‘rw

1. ®
5 % TEIETES feoT
3 v SRETUETeE faeoT
4. % HaaT & faQwoT

Question Number : 83 Question Id : 7532292918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fefofea ¥ O Fia-ur Beew B i &1 3eEor 78 27

Options :



4 % HARE

Question Number : 83 Question Id : 7532292918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=T & & Fia-u7 Boeg BweT afer & 30T F6r 87

Options :

1 ® Tre=w
) #® IEEGTE
3 @ TeEETS

4 % AR

Question Number : 84 Question Id : 7532292919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TFeal # 8 Fi9-9r TeeT 'gu+3r & gdr g g2

Options :




4'\-,,/1':FﬂE|T

Question Number : 84 Question Id : 7532292919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=@ TFeal 7 ¥ Fia-ar Teey 'gu+ar & gdr g g2

Options :

5 % TR

3. % HIEGT

4 v TR

Question Number : 85 Question Id : 7532292920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofoeT ¥ O Fi9-u7 BFeT gAg F T & Tog &7

Options :



, v TAH H FHA-J-HA 1 JUI & AT g gl
s« TEET TR & & v & Ty g w I e

, « TAE & g g gl

Question Number : 85 Question Id : 7532292920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=REa § ¥ Si9-071 BT §FF & e # 799 272

Options :

|« TEE F FHE-G-FHA & I&T HT AT & g

, v TAE H FA-G-HA & Jui & 1T g g
s« WHES 9ai & d= w@f & Ry g w5 2 &

, « TAE F =g g gl

Question Number : 86 Question Id : 7532292921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SH TATH H FeaT 9¢ FGRaradIvor 3reud g ST 8-

Options :

| v HOATATT HATH




Question Number : 86 Question Id : 7532292921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SH TATH H HeaT 9¢ FGRaraIvor sreua g ST 8-

Options :

| v HSTOAHATT HATH

Question Number : 87 Question Id : 7532292922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39RT 3T 39AT F HAS & e g

Options :



4.343?%

Question Number : 87 Question Id : 7532292922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39RT 3T 39AT F HAS & e g

Options :
. % 394

) THh

3 ®% YHR

4‘3.53?';3"”

Question Number : 88 Question Id : 7532292923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FUT & g 3R 3 S w5 Aied @t &, F8T FiF-3T eeR gar &7

Options :
| % YERTASR



Question Number : 88 Question Id : 7532292923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR FUT F g T JYIT ST T 7 Gigd g &, 98T HIF-7T MR g 87
Options :

| % YEETASR

Question Number : 89 Question Id : 7532292924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=@ # ¥ Fila-9r ey 'T5av &1 9ITasy 787 87

Options :

| » FETE




Hebd

3% 2

4 « Tcd

Question Number : 89 Question Id : 7532292924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=RET 7 ¥ Fi9-07 5T 'T5aF F 9IgaE 38 272
Options :

|« BEree

2. #* HTdcd

3. % 2

4 Hcd

Question Number : 90 Question Id : 7532292925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frfofga ffwedl & 7 wrds &1 e a=g gfaw

Options :

1@3-1'\1:!?:!'2(!
) v TERIER



3‘uﬁ-‘|ﬁ'ﬁ'ﬁr
4_@4%‘3&&'

Question Number : 90 Question Id : 7532292925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefaf@a et & ¥ 'Trds & e =g giaw
Options :

| HERY
) v el
3. % fesTe
4w Toerg

Question Number : 91 Question Id : 7532292926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fa e JgEy & A 5asw)

Options :

5 % Siehd Ele



3 3H 9l =]

4 % Tlhd HA

Question Number : 91 Question Id : 7532292926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g e JEEy & A gasw)
Options :

| % G e

5 % iehd gl

3 v 3H TdT AT

4 % Tlhd H

Question Number : 92 Question Id : 7532292927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T=fEa # ¥ g aEa & 3 & S oy

Options :

W ¥ I s &

1. =

2dma:m3|3%ﬁ#m



s % U 9Y &1 FA

4 % e For AT

Question Number : 92 Question Id : 7532292927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e 7 o g aiEa & 37 & S o

Options :

e ¥ A e F R

1. =

2¥mﬂ:m3:3ﬁﬁ%m

s % U 9Y &1 FA

4 % e For AT

Question Number : 93 Question Id : 7532292928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TAT AT TR~ T T FH FATIT|
Options :

L
| % IAHAT Pl

Hlenlel

2. # ™



HIHeed E-Iﬁdﬁl'!lf?l

3. %

4 v AT FHTel

Question Number : 93 Question Id : 7532292928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

‘TAT AT FMTET|- FTFT T FHTel T80
Options :

| % TIAT FTA

Hcdehlel

2. % N

3 % HIHeed Hﬂdﬁl‘!lﬁl

4 v SIS FTel

Question Number : 94 Question Id : 7532292929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘FH AT & Ig S0~ T R Fe 7 g0
Options :

-\Em-llc-bl Hﬁdﬂﬂlﬁ

1. =

, % OHAT TSSO



3Hﬁﬁ?ﬂﬂ-ﬁ$ﬁr

4%%?'%?'?'3;; s asgETer

Question Number : 94 Question Id : 7532292929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘FHA AT A A7 S0l ey FE w72
Options :

| % HAT E-I“r[ﬂﬂloi

> % WHAEY SIS
y « TIEIT ST

4%%?'%?'?'3;; ST

Question Number : 95 Question Id : 7532292930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HAFI & T fohael AE 872
Options :




Question Number : 95 Question Id : 7532292930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TAFTS &F FA (bt G 87

Options :
| = 4

Sub-Section Number : 2
Sub-Section Id : 753229192
Question Shuffling Allowed : Yes

Question Id : 7532292931 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)
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Sub questions

Question Number : 96 Question Id : 7532292932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HARaTAIC FEl ¥ TIod ardr 87
Options :

| v AfEE o @
5 % T |
, « RE-ART &

4. ® -t =

Question Number : 97 Question Id : 7532292933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 9T #1 endd = ¥ B mErmar FeEh?

Options :

| O & s T A

, » oX1 F 3R o #
3« HATSE for@a #

4 % FHYET Torga A



Question Number : 98 Question Id : 7532292934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT H oIWF B HIAT T[T AT Hebed BT AT FEd 87
Options :

- agéaammaﬁr

- ok & Th-Ush ST &+l

Aot @

, x AT §g8 @

Question Number : 99 Question Id : 7532292935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HS F TER & g fhaa gaArar?

Options :

|« THAT EEE A
, % W TH FEEd o
3 v SERT EEE A

4. % oqEF o



Question Number : 100 Question Id : 7532292936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FEST IS F UER Fa HeAdT STl g2

Options :
- ATFIS A ISSHT &

maﬁmsﬁr

FIide T ISTHT T

L q‘l‘waﬁm@

Question Id : 7532292931 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)



AT T TGHT WA & Ieal Gifore-

A WO 1 3% W g1 98 HeauF FT FY g & 9F TH-TF W &
HETTA FY AR $HF T FHA fAshut & HURT 9T gor B STSHAT
HeAT 1 sfagrm e 7 "gas o) 4 Sgeaenr HaEd J U T
W@ g ‘ST I F T H AT F UF G FT 9 g5 29T A ¢
ar 5 AT 9T F e f 3mw a9 o § O # gm 3 3w
TE T Fh gl SEIeH F ol HFIR A PUd @A AT F AT
Te§ @ S W g S g8 aF e o SR qEae & € e @
off| SET T F 37 o M9 F BEAlRy F 3w & @2 g eEn By
U. AEEEET S IcH UNse HH AT, ¥EW, oW gmy s
Ao ST TEAT F Jq@ ® gEE 31S (AGUE YFA HSeAT) F AR F,
3T =@ 3TET 9T OTHET 9% $T STl @ 410 ST are HEHSE a7,
S8 g1 TART aE F8d 8, T GAS 9 OF 3¢ T8I AU &
ST 93T F 55 g@E 1 @ H Agea-oied S QS HI F@r WO 9 S
¥ St 3 gEor iy [t & B o s StaR s2er S e R g
(o= 33 o & @1y = =1 TR, Bur= 3= o 953 & 39% gy
Teeilad, e09ER) & fww & iR #f0s s fr R seor o segear 7
2Ef? I 3l = AW 3w RBey At F g e g, Saewr dafas
TEZfd & Toee 3R aegga i@ g1




Sub questions

Question Number : 96 Question Id : 7532292932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HARaTAIC FEl ¥ TIod ardr 87
Options :

| v AfEE o @
5 % T |
, « RE-ART &

4. ® -t =

Question Number : 97 Question Id : 7532292933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 9T #1 endd = ¥ B mErmar FeEh?

Options :

| O & s T A

, » oX1 F 3R o #
3« HATSE for@a #

4 % FHYET Torga A



Question Number : 98 Question Id : 7532292934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT H oIWF B HIAT T[T AT Hebed BT AT FEd 87
Options :

- agéaammaﬁr

- ok & Th-Ush ST &+l

Aot @

, x AT §g8 @

Question Number : 99 Question Id : 7532292935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HS F TER & g fhaa gaArar?

Options :

|« THAT EEE A
, % W TH FEEd o
3 v SERT EEE A

4. % oqEF o



Question Number : 100 Question Id : 7532292936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEE IS F SRR H HAIT AT 72
Options :

| ST Y HSTHT I

maﬁmsﬁr

FIide T ISTHT T

L q‘l‘waﬁm@
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Group Marks : 20
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Disciplinel

Section Id : 753229160
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229193
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7532292937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the correct order of the heat of combustion for the given series of compounds?

EH.L‘H_,@ L‘H_&‘H;‘Q EH_—IIH:O
I I I

Options :

| % I<I<II
7 o I<III<II
3 ® DI<I<II

4 % MI<I<II



Question Number : 101 Question Id : 7532292937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O] ! 9 &1 7 4T & U 59 & 31 &1 98] H9 S 9182

CH;CHE;O CH;CHg_Q CH.’-CHEAQ
| Il 1

Options :
1 % I<II=CIII

) I<II<II
3 % M<I<II

4 % MI<I<I

Question Number : 102 Question Id : 7532292938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following reaction. a mixture of products A and B are formed. Select the correct combination of products from the

given options.

ﬁ?
CH;COOH

Options :



L L)

minor product major product

1. ¢ A 3

mmner product major product

0 ® A B
D
major product munor product
3 % A B
0 0
major product nunor product
A
4. ® B

Question Number : 102 Question Id : 7532292938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



J=r & 2 HRRFTIr # 3oaet A 3K B # us fRAUT 94T §1 99 I 54 39IEr (products) F HEr
AT &1 T99T ATt & ¥ fifav
1
{?H_J.'?ODHE

Options :

munoer product major product

1. ¢ A B

mner product major product

) ® A B

major product minor product

3. % A B



LI )

major product nunor product

4. % # B

Question Number : 103 Question Id : 7532292939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the product of the following reaction.

H,C
CH,
. BoH,
H RO HO - e
CH,
Options :
CMs Ho o,




OH pie.  cH,

H
HaC

2. % H

CHs H,c CHq
H
H
3. & OH
H He CHa
HO
HaC
4. v H

Question Number : 103 Question Id : 7532292939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

= s & JRurassss RET 300e (product) &1 @7 HfSTI

CH,

—— e e
H ORIl

CH,



Options :
CHy HAC

1. ® H

OH W&o CH,

H
HaC
2. H
CHa H,c CHa
3
H
3 ® OH
H
HsC CHg
HO
HaC
4. ¢ H

Question Number : 104 Question Id : 7532292940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Match the following alkenes with the appropriate heats of hydrogenation.

Heats of hvdrogenation in

Alkens kJ/mol (kcal/mol)
(i) 1-Pentene (a) 151(36.2)
(11) (E)-4.4-Dimethyl-2-pentene (b) 122(29.3)
(1i1) (Z)-4-Methyl-2-pentene (c) 114(27.3)

(1v) (£)-2.2.5.5-Tetramethyl-3-

hexene (d)y 111(26.5)

(v) 2.4-Dimethyl-2-pentene (e) 105(25.1)

Options :
s ()= (b), (D) - (e), (iii) - (), (ii) - (d), (v) - (a)

5 (V) - (@), (1) - (b), (iii) - (c), (ii) - (d), (V) - (e)
3 % (V)= (e), (i) - (b), (iii) - (d), (iD) - (), (v) - (@)

4 % (I¥)-(d), (1) - (b), (iii) - (a), (i) - (). (V) - (¢)

Question Number : 104 Question Id : 7532292940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frrafaf@a tohar #1 gEgseeteT H 39gad FEAR & @y gafoa Hfaw

. BTSE I IehI0T I ST
kJ/mol (kcal/mol) &

(i) 1 (a) 151(36.2)

(i) (E)-4.4- aéﬁﬁmrz 9T | (b) 122(29.3)

(iii) (2)-4-AfEer-2-E= (c) 114(27.3)

(iv) (2)-2,2,5,5-&ATre-3-

i (d) 111(26.5)

(v) 2, 4-35Afe-2-98F (e) 105(25.1)

Options :

1w (V) - (B), (i) - (), (iii) - (c), (ii) - (d), (v) - (a)
b v (V) = (@), (i) - (b), (iii) - (c), (i) - (d), (v) - (&)
3 % (i) - (), (i) - (b), (i) - (d), (i) - (e), (v) - (a)
4, % (V) = (d), (i) - (b), (iii) - (a), (i) - (), (v) - (c)

Question Number : 105 Question Id : 7532292941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Identify the final product in the sequential reaction given below?

/ \ ®
m = == = 3
— e
- u® H20

Options :




ffxf,f“x

|

e
i .

-
e

o B =

,_.j"' “"‘m::-" i

F
4. % 0

Question Number : 105 Question Id : 7532292941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

= 4 TS S e sififerar F Sifar SaE (product) & ©U H 1 U ST

P s e
o “-Ir “'n

Options :

e W .t
.--""Ff j_,f'# ‘x‘“‘
3
) F?J;J\ f,f’f e
U - ,\__-"' e

4
T




3. @ 0 o o
,-"1" T ,-f. ,—*"f
4. % 07 k- b

Question Number : 106 Question Id : 7532292942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the correct order of basicity of the following compounds?

(1) ethylamine

(2) NH;

(3) 2.4-dimethylaniline
(4) 2.4-dinitroaniline
(5) p-nitroaniline

Options :
| v 1 (strongest)>2>3>5 >4 (weakest)



Zh

, % Z2(strongest)>5>1>3>4 (weakest)

3 % 3 (strongest) > 1> 2> 5> 4 (weakest)

Zh

4 % 4(strongest)=5>3 =21 (weakest)

Question Number : 106 Question Id : 7532292942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e diffe &1 37 e & HIER WE FA H egateug S
(1) viEETHE

(2) NHs

(3) 2,4-sEAfAeTiae
(4) 2,4-zEarEeeiaea
(5) p-TEgIT el

Options :

L 1 (FEead) > 2 > 3 > 5 > 4 (gFaH)

1.

2.332(1;@3::)}5:-1:-3::4@3@)
3.333(;[@3::):11:-2:-5}4@3@}

4‘234(%3?)}5}3:2}1(?33;[}



Question Number : 107 Question Id : 7532292943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the name of the major product of the reaction given below?

NalN; 1) LiAIH, ?

HO By g
2)H,0

Options :
| ® Pp-aminophenol

, % (rans-4-aminocyclohexanol
3 Cis-4-aminocyclohexanol

4 % Ccis-4-bromocyclohexanamine

Question Number : 107 Question Id : 7532292943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & 715 #fRIT &1 =T 37 (product) T FEM?

Nal- 1) LiAIH
H il Br Na}", ) ;i q
2)H,0

Options :



| % p-¥HAFAST (p-aminophenol)

, » TE-4-FHSEEEFAGFRAS (tfrans-4-aminocyclohexanol)

, v BE-4-AAEEFgaaad (cis-4-aminocyclohexanol)

, » EH-ASHANEEFAGFIACAIA (cis-4-bromocyclohexanamine)

Question Number : 108 Question Id : 7532292944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the intermediate A and the major product B in the following reaction?

O
N, A
—_—» A —— =B
NH, intermediate
Options :
O
A= an acyl cation B=
NH



H
N
A= an acyl cation B= @: \FO
N
H

2. %
/O
A= an acyl nitrene B=
NH
3, %
H
N
A= an acyl nitrene B= >:O
N
4. H

Question Number : 108 Question Id : 7532292944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e fatfasar & aRuTATERT 9vd @1 arer Fegad! (intermediate) 3c91g A HIT SHE (major) 3e91E B
B T g7

O

N, A

—_—» A —— =B
NH, intermediate

Options :



A= an acyl cation B=
NH
1. %
H
N
A= an acyl cation B= @j >:O
N
2w H
/O
A= an acyl nitrene B=
NH
3. %
H
N
A= an acyl nitrene B= >=O
N
4.9 H

Question Number : 109 Question Id : 7532292945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What will be the major product formed in azidolysis of the following epoxide?

NaN,

=

MeOH - H,0, NH,CI




Question Number : 109 Question Id : 7532292945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frrafaf@a saiewmss & ofosifafem & = aer 979w 3o F7r geme?

NaN,

T

MeOH - H,0, NH,CI

Options :

N3
OH

1. ®
I OH
FF’NB

2.9
OH
N3

3. %



.OH

"'NB

Question Number : 110 Question Id : 7532292946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the C3 epimer of D-talose from the following.

Options :
CHO
HO H
H——0H
HO———H
H——0H
L CH,OH
CHO
HO—r—H
H——0H
H—7—0H
H——0H

5 % CH,OH



CHO

HO——H
HO——H
H——OH
H——OH
3 % CH,OH
CHO
HO—1—H
HO—+—H
H~——OH
HO—+—H
4% CH,0H

Question Number : 110 Question Id : 7532292946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A= # ¥ D-&aT (D-talose) & C3 TRAT (C3 epimer) & T HfST|

Options :
CHO
HO——H
H—+—0H
HO—r—H
H——0OH

| CH,OH



HO——H
H——OH
H——OH
H=—1—0H

5 % CH,0H
CHO

HO——H

HO——H
H——OH
H——OH

3 % CH,OH
CHO

HO——H

HO—+—H
H~——OH

HO—+—H

4% CH,0H

Question Number : 111 Question Id : 7532292947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Predict the product of the following reaction.

Lys + excess (CHyCO),0 —

Options :
I
HD*C—“NH*?H-CD
. (CH,),NH,
I
HD*C—“NH*?H-CDGH
) % (CHp)yNH,
I
CH;C—NH-CH-COOR
3 % (CHp)yNH,
O

|
CH4C—NH-CH-COOH
v (CH,),NHCOCH;

Question Number : 111 Question Id : 7532292947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



forr T & INUTHETEsT TyaT: Fi9 O 39T 497
Lys + excess (CH;CO),0 —

Options :
i
HD—C—“NH—(IIH-CO
- (CH,),NH,
i
HO*C—“NH—(I;‘H-COOH
- (CH,),NH,
O

1
CH;C—NH-CH-COOR
3 % (CHp)4NH,

I
CH,C—NH-CH-COOH
. (CH,),NHCOCH;

Question Number : 112 Question Id : 7532292948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A solution of 2.0 g of (+) — glyceraldehyde in 10.0 mL of water was placed in a 100-mm cell. Using the sodium D line,

a rotation of ~1.74 degrees was found at 25°C. Calculate the specific rotation of (+) — glyceraldehyde.

Options :
1. ® -8.7°

Question Number : 112 Question Id : 7532292948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10.0 mL 91t H (+) - TomifesgEs + 2.0 g F Fo0a #1 100-mm & T & @1 7137 @f2TA D
SIS & AT A §Y, 25°C W +1.74 & o simercer qnm @ (+) - Pemfesgres & Rl

HEdd &7 0T BT

Options :
| % -8.7°

2. +8. 7
3 % -b1°

4. ® +H1*

Question Number : 113 Question Id

: 7532292949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

H-Cl stretching frequency appeared at 2950 cm~' Calculate force constant K.
Options :
| % 7.36x10°

5, % 6.73%10’
3 % 5.62x10°

4 v 4.98x10°

Question Number : 113 Question Id : 7532292949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
H-Cl & aaiet 3gfed 2050 em™ o 9Tod BIT 81 3% & faaaes K $r aomer #ifav)

Options :
| % 7.36x10°

, % 6.73%10’
3 % 5.62x10°

4 v 4.98x10°

Question Number : 114 Question Id : 7532292950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A compound displays the following spectral data. Select the correct structure of the compound.

IR: 1690cm™1

'H NMR: 52.5(s.3H).3.8(s.3H).6.9D.] =8Hz, 2H)
ppm SC NMR : 5197,165.130,129,114,56,26 ppm
Options :

1. % OMe



\ 7/

MeO
4.9 -

Question Number : 114 Question Id : 7532292950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

uF TifEer A T ToecHT e YEiid #ear ¢ 3§ T Fr 58 g=Er T aua feeear # ¥ HIew
IR: 1690cm™t

'H NMR:S62.5(s.3H).3.8(:.3H).6.9(D.J=8Hz,2H)
pom ECNMR - 5197.165.130,129.114.56, 26 ppm
Options :

O

1. ® OME

fond



Question Number : 115 Question Id : 7532292951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following regarding Steam Distillation is INCORRECT?

Options :

| = The boiling point of a mixture of two liquids will be lower than either of the pure components.

, % Steam distillation is particularly used for the purification of an organic liquid.
3  The boiling point of a mixture of two liquids will be higher than either of the pure components.

4 % The impure organic liquid admixed with water containing non-volatile impurities is heated.

Question Number : 115 Question Id : 7532292951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IST HHIS & Ty ¥ FR@T # § s o1 sy mog 27

Options :

o & g4 & AT 1 YA sUS O o o ueF @ FA gem

ST HTHAA HT 3IAT FEIA: Faiae gar & YA0r & faw f&ar smar g

2. %

3-Jaw¢ﬁmmmmmsﬂagm@mm|

L w guA yarsefier syfeal arer ster & AT e FafEw g7 @1 o1 fasar S 2

Question Number : 116 Question Id : 7532292952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the liquid pairs NOT behaving like phenol-water system from the following.
Options :

| % Methanol-Cyclohexane

> % Hexane-Aniline

5 % Carbon disulphide-Methanol

4  Nicotine-Water system

Question Number : 116 Question Id : 7532292952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



o # ¥ 37 33-37F &1 999 FAT A Al 99 T AT SHGERN FGT BT 87

Options :

|« AAS-BFAFA
, « gEHA-Uled
, » FEA SHHHISS-HAAT

s v ST 9w

Question Number : 117 Question Id : 7532292953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A mixture of quinoline and water boils at 98.9°C under a pressure of 740 torr. The distillate contains TR of

quinoline and 1 kg of water. If the vapour pressure of quinoline at 98.9°C is 7.96 torr, the molar mass of quinoline will
be:

Options :

| % 160 g/mol

, % 149 g/mol

3 % 179 g/mol

4 v 129 g/mol



Question Number : 117 Question Id : 7532292953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R AR o % v Bs0r Y 740 TR SgASAE g9 & Hded 98.9°C W IATSN AT gl IET H
7.79x107 kg TFgAENT 3R 1 kg ST 99T g1 T 98.9°C TR fFaaia 7 a7 gF 7.96 =X §,

ar BaaEtT #7 \T g fFaar gem?

Options :
| % 160 g/mol

, = 149 g/mol

5 = 179 g/mol

4 129 g/mol

Question Number : 118 Question Id : 7532292954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following expressions is correct for Isothermal and Adiabatic Expansions?

Options :

1. # P:m’fa&a:fc = Esarﬁgmmf
2. W }::'.'-c?‘m!-"nrrr < R.':a.r?.\mm:

3 Pexf.ic?bmﬁ: = P.:'mr}mma.?

4. ® ‘Pan’?abaﬁc 2 P.'wﬂm':rm.?



Question Number : 118 Question Id : 7532292954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHTT (Isothermal) 3T TE™F (Adiabatic) T8 & T # A7 § ¥ Hia &1 =I5 Tl 87

Options :

1. # P:;'c;"fa&a:fc = EEGIF?E}?}M?J[
2. o Eﬂ-ﬁ'fﬂhil‘rr < Pr'.':a.r?.\mm:

3 & Pexf.ic?bm&: = P.:'mr}mma.?

4. % ‘Pan’?abaﬁc 2 P.'Euﬂm'm{:.?

Question Number : 119 Question Id : 7532292955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the partial pressure of HCI gas above a sample of NH4CI(s) as a result of its decomposition according to the
reaction, NH,CI(s)e— NH.(g)+HC(g) m’}j; values of NHyCI(s), NHs(g) and HCI(g) are - 202-96 kI/mol, -16.48
k¥/mol and — 95.30 kI/mol respectively.

Options :
1 % B =1.02x10atm

5 % Buy =10.2x107 atm



3 % Pooy =10.2% 107 atm

4 P =1.02 %107 atm

Question Number : 119 Question Id : 7532292955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT NH.CI(s) == NH, (¢)+HCI(g) AGY ST NH4CI(s), NHa(g) 3 HCI(g) & #Ter Faer: -202.96
kJ/mol, -16.48 kJ/mol 3T - 95.30 kJ/mol &, & 38N, NH4CI(5)?|? F-I?:ﬁ' o EH& HIHSH &
gfuTETEET HCl 39 & 37f9s a9 &7 71T Sfere|

Options :
% By =1.02x10 atm

1.

P, =10.2x10 atm

2. %

3 % L =10.2% 10~ atm

Py =1.02 % 107 atm

4.« ‘HC

Question Number : 120 Question Id : 7532292956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Calculate A, H° and A,5° for the reaction
Na(g) + Os(g) = INO(g)
from the following values of X

Ik 1900 2000 2100 2200 2300 2400 2500 2600
KNom+ 231 408 68 110 169 251 360 503

Options :
|« 182kJ/mol, 26.0 J /K /mol

> w 128 kl/mol, 62.0 J /K /mol
3 % 18.2kJ/mol, 262.0 J /K /mol

4 % 1.82 kI/meol. 260 J /K /mol

Question Number : 120 Question Id : 7532292956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

K & -9 A7
TIK 1900 2000 2100 2200 2300 2400 2500 2600
KNo=4 231 408 68 1.0 169 251 360 503

Na(g) + Oy(g) = 2NO(g)

@ AH° 3R A,$° & A F1d BT

Options :



» 182 kd/mol, 26.0 J /K /mol
, % 128 kd/mol, 62.0 J /K /mol

3 % 18.2 kd/mol, 262.0 J /K /mol

1.82 kd/meol, 260 J /K /mol
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Question Number : 121 Question Id : 7532292957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the correct knocking order of hydrocarbons.
Options :

| Straight chain paraffin > cyclo paraffins > aromatics™ branched chain paraffin = olefins
»  Straight chain paraffin > branched chain paraffin > olefins > cyclo paraffins > aromatics
5 % Branched chain paraffin = olefins > straight chain paraffin > cyclo paraffins > aromatics

4 % Olefins = cyclo paraffins > aromatics > straight chain paraffin > branched chain paraffin

Question Number : 121 Question Id : 7532292957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BTSSR & WET AlMheT Helehd T TUA HITAAT|

Options :

|« T AT S wEder ik riAfFEs aes 3w Wik ey

, v BT 39 Wik > g 3w fufss > s > asaar Sufea > wAkkew

s« Fe8 A YUfa > HRfew > R 99 i > g ST > WAy



, » FRAfhE > FEF Wihew > WARTFH > Ve 39 Hfhed > 3= 37 it

Question Number : 122 Question Id : 7532292958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following.

Type of gas Calorific value
(a) Natural gas (1) 1,000 kecal/m3
(b) Coal gas (11) 2,800 keal/m3
(c) Water gas (iii) 4,900 kcal/m3
(d) Blast furnace gas (iv) 12,000 to 14,000 kcal/m3
(e) Producer gas (v) 1.300 kcal/m3
Options :

| % a-Lb-ilc-v,d-iv,e-ii
) o A-b-le-iid-ie-v
3 % a-ib-ii,e-ivd-ve-ii

4 % a-iLb-lulc-ivid-v.e-1

Question Number : 122 Question Id : 7532292958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T @ e ST
T F uEr ShelT AT

(a) pfas T | (i) 1,000 kcal/m3

(b) et g (i) 2,800 kcal/m3
(c) =ter g (iii) 4,900 kcal/m3
(d) soTEE ®AE | (iv) 12,000 to
Lir) 14,000 kcal/m3

(e) 3eares 3/ | (v) 1,300 kcal/m3

Options :

| %@ L= i eeyd mn &=l
s @-iv,b-iii,c-ii,d-i,e-y
3.&;a-i,b-ii,c-tv,d-v,e-iii
4w @, b, e - v,d =y ma

Question Number : 123 Question Id : 7532292959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An American gas agency has prepared a fuel that has the following composition 2.1% of ash, 82% of C, 5% of O, 8% of

H, 2.5% of S and 1.4% of N. What is the net calorific value of the fuel?
Options :



| w 8803.3 ki/kg
8.8033 keal/kg
» 8803.3 keal/kg

8.8033 kI/kg

Question Number : 123 Question Id : 7532292959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v ¥R 3 v 7 % Sus auR TFar § meE T g oaf e £ 2.1% 1w, 82% FEa (C),
5% 3fterdrster (0), 8% gsge (H), 2.5% HeWT (S) 3R 1.4% @B (N)| 3 $Ua & Y o
AT TohgaT Blem?

Options :

| » 8803.3 kl/kg
, = 8.8033 keallkg
5 « ©6803.3 keal/kg

, » 8.8033 kl/kg

Question Number : 124 Question Id : 7532292960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The speed and kinetic energy, respectively, of an electron in the second Bohr orbit is:
Options :

|« 10.6x107"m/s,2.18 107"
2. % 3.24x107°m/5.5.29x107°J
;% 2.18x10°m/5,10.8x107°J

4 v 1.09x107°m/5.5.4x107° J

Question Number : 124 Question Id : 7532292960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SI-ATSer & HJHR G F&TT H T Foaelal o M T st = e faelr g 872
Options :

L% 10.6x107°m/5,2.18x107°J

) ® 3.24}(10_16”1 1’5',5.29><10‘3‘3J
;% 2.18x10°m/5,10.8x107°J

4 v 1.09x107°m/5.5.4x107° J

Question Number : 125 Question Id : 7532292961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following sets of quantum numbers is suitable for the given radial wave function?

0.1

05 H t

RINNZa)"

'1

-0.05
0 7.5 15 225

Options :

Question Number : 125 Question Id : 7532292961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



few av BT ST woa & v Faes wewst &1 feT A7 ¥ FiT w7 =g 39gE 22

0.1
el
||l I'l
-
0.05 ||
& I| '||
3]\
i . I'\.
Y = ]
L W
-0.05
0 7.5 18 225
Erfa,}
Options :

| x@ =3 (=1

, e =8 =1
,xn=21=1
Jan=3 =2

Question Number : 126 Question Id : 7532292962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Calculate the maximum wavelength of the radiation that will bring about dissociation of a diatomic molecule having a

dissociation energy of 390.4 kI/mol.



Options :
| % A=611nm

> % A=2508 nm
3 « A=306nm

4 % A=720nm

Question Number : 126 Question Id : 7532292962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3q fafawor #r sfewas aEr-ded i o ST S 390.4 kd/mol #r i F= Je g
30T F JUFHIOT I HHI FAT &7

Options :

| #% A =611 nm
> # A= B08 nm
3« A = 306 nm
4 % A= 720 nm

Question Number : 127 Question Id : 7532292963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following expressions represents the coefficient of thermal expansion?
Options :



Question Number : 127 Question Id : 7532292963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & ¥ Fi9 T I FHT T6R F UTE F 0T K 82
Options :

_1(év)

“V\EP )y,

1’8?:-']
a=_| _—
VL@P P

1.¢



](SP
o=—| —
n\ oV Jpr

Question Number : 128 Question Id : 7532292964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following statement/s is are incorrect?

Statement - 1: At low pressures and fairly high temperatures, real gases show nearly ideal behaviour and the ideal-gas

equation is obeved

Statement - 2: At low temperatures and sufficiently high pressures, a real gas deviates significantly from ideality and the

ideal-gas equation is no longer valid.

Statement - 3: The closer the gas is to the liquefaction point: the lesser will be the deviation from the ideal behaviour.
Options :

| % Only Statement - 1
» % Only Statement - 2

3w Only Statement - 3

4 % Cannot be predicted



Question Number : 128 Question Id : 7532292964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FefeRag d ¥ e w8 = Tad &2

HYF-1: HH T4 X a9 8 37 99 UL, Iaide 19 oTHT HTGE S0asR g9l ¢ 3k 39 fufa 7 aneeliyg
GHIH0 &1 ITa- BT ¢

HYF-2: HH dIGHM IR 7T ©9 ¥ 3= g9 U, IRAd@ 19 3G AdeR &1 U Aol ddl ¢ IR 39 ufd & amexl-
g g0 510 981 I8 ST g |

HYH-3: T 3190 fig & fo7a=1 ®Xie il 898 9o o 9% 3e3l IdoR &1 He=i- Hidl o

Options :

|, % AU DY - 1

), % AT BYUT -2
3 Ddd DY -3

4w FED1 YR Hya e ¢

Question Number : 129 Question Id : 7532292965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At STP. the molecular diameter of a gas is observed as 4 A. What would be the mean free path of its molecule?
Options :

L v 0.524x107ecm



5, % 5.24x107 em
3 % 32.4x% 107" em

4% 524x107 em

Question Number : 129 Question Id : 7532292965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STP =X, 3 % uifas =ar® & 4 A & &9 # AT AT g1 $HF HU] H AT Had 97 FIT gET?
Options :

L v 0.524x107 cm

>, % 5.24x107em
3 8 32.4x% 107" em

L% 524x107 em

Question Number : 130 Question Id : 7532292966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From Van’t Hoff equation, when a graph of logK, against 1/T is plotted, which of the following statements Is correct?
Options :

For exothermic reaction AH is negative and K, increases with increase in temperature



., Forendothermic reaction AH is positive and K, decreases with increase in temperature

I_.LH
3 The slope of the graph is 2.303R

AH
+
4 » The slope of the graph is 2303R

Question Number : 130 Question Id : 7532292966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
J1T g% THHRIUT (Van't Hoff equation) &, & 1/T & H9ef logK,, T TsF I AT AT g, af O+

oy # ARRd & ¥ 39 8@ Fu9 T 87

Options :

o FeAmEr sfAfEar F BT AH HoTeRs g@lar § 3R avds # giE F Ay K §ear §

FeArey A F v AH garers gar g 3 g A 3fE & @y K gear

2. ®
IF & gaoEr - 28 3
3 2303R
IAF Hr gForar LA
2303R
4. %

Question Number : 131 Question Id : 7532292967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The equilibrium constant K. for the reaction 250, [g] ——250,(g) + 0y(g)

15 0.0271 mol /L at 550 K. Calculate Kp at that temperature.

Options :
1. % 2.48 bar

2 « 1.24 bar
3 % 3.72 bar

4 % 4.96 bar

Question Number : 131 Question Id : 7532292967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
250:(2)&=250,(¢g) + 0:(2) & Ry ww B2 K (equilibrium constant) 550 K ST 0.0271 mol /L ¥l

ST dHAET W Kp &1 210=r SHifaT)
Options :
| = 2.48 bar

7« 1.24 bar
3 % 3.72 bar

4 % 4.96 bar



Question Number : 132 Question Id : 7532292968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
calculate the number of degrees of freedom for the following systems:

(1). Potassium chloride solution in water at the equilibrium pressure.
(ii). Potassium chloride solution and sodium chloride at 298 K at 1 atm pressure.

(ii1). Ice in a solution of water and alcohol.
Options :
| = (D)3, (i) 2, (iiD) 2

5w (D)2, (i) L, (i) 3

3 o (D)2, (i) 3, (iii) 2

4w ()20 3, (i) 1

Question Number : 132 Question Id : 7532292968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Form & fou ward sifedl (degrees of freedom) & T&AT &I 0T
GAIEIE

(1) 9 e W 9 | UelRmm waREs & faaed

(ii) Ul sorEs fdggT 9uT 1 atm @ W 298 K W GifsgH
HIRISS

(1ii) o 3R Sfeigd & fAaod # a6

Options :



| ()3, GD 2, i) 2
5w ()2, G 1, (i) 3
3« ()2 G 3, (D) 2

4 % ()2 G 3, GiD) 1

Question Number : 133 Question Id : 7532292969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A+BT——=X + 7T

A solution reaction 1s endothermic and K at 25°C is 10. Which of the following is correct?

Options :
| % AG"<0,AS°<0,

) AG® <0,A8°>0,
3 % AG®>0.AS° <0,

4 % AG>0,A8°>0,

Question Number : 133 Question Id : 7532292969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faoae afifepay 4 + 87X + ¥ g grwgraindt arfiifpan @ ofiR k., 25°C R 10 81 59 Sae § g & o7 91 [foey
a1 g

Options :




| % AG"<0,AS°<0,
)« AG"<0,A8°>0,
3 % AG®>0.A5° <0,

4 % AG'>0,A8°>0,

Question Number : 134 Question Id : 7532292970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
At STP, in an open vessel, 0.1 kg of zinc are caused to react with dilute sulfuric acid. If it is considered as an ideal

process. calculate the work done by the liberated hydrogen gas?
Options :

| % -2.78K]

) o -3.79K]
3 # 0kJ
4 % -1.82KkJ

Question Number : 134 Question Id : 7532292970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STP W, & o o H, 0.1 kg & &1 a7 Forgiie 30 & Ay 3 w8 7 71 ofg 59
Teh HIEL FiRaT ATAT ST, & HFd g8siaiat 318 AT [hT 31T 14 & 0T Hiiaie?




Options :

L% - 278 K
5 v - 3.79 kJ
3 % 0 kJ

4% - 1. 82 ki

Question Number : 135 Question Id : 7532292971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statement is correct for the expansion coefficient of a perfect gas?

Options :

= The lower the temperature. the less responsive is the volume of a perfect gas to a change in temperature

, % The lower the temperature. the high responsive is the volume of a perfect gas to a change in temperature
5w Lhe higher the temperature, the high responsive is the volume of a perfect gas to a change in temperature

4  TIhe higher the temperature, the less responsive is the volume of a perfect gas to a change in temperature

Question Number : 135 Question Id : 7532292971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS HEY AW & FER AU & HeU H fralofEa & & w9 3@ sua w@@r 87

Options :



| » TTIHA TG 7 gR, A H 9REad & @7 A8 S # HAGT 3T 81 FF Ficishareie g

, « A fAar FH7 g, a9AE # 9REaad & O Hee S # daa w0 gfafeanie e

J9AT g 30 g6, a9 T # 9Eda & e seet A9 & e 39T & e gt
3 & W

T9AT Togar 30 R, O9AT # 9Eas & T 3y 9 #7339 39T & FF giafeanie
, BRET
4. &

Question Number : 136 Question Id : 7532292972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following statement is incorrect regarding Joule—Thomson effect
Options :

[aU]
Tp=| |
| % The internal pressure is measured by Lol

|
d

»  The Joule-Thomson effect is the cooling of a gas by isenthalpic compression

! lf H A
Lap ),

Hy =
3 % The isothermal Joule—Thomson coefficient is

Frd
o= —|

Ho=|
4 % The Joule-Thomson coefficientis ¥



Question Number : 136 Question Id : 7532292972 Question Type

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

S[E-UTTE UHE & Had § A H S o1 W ey Ea
Options :

Hdke g8 Bl

=

ﬁ] BRI AT ST §

LoV |

2.
5 GH‘l AT S@- 47T 0E ©
y Lap ),
3. % ’
s EW -G TS
4. ® LP 1y

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

o SIE-YIHEH UHIE S8 afcs HulsH gR17Y &1 381 81 8

Question Number : 137 Question Id : 7532292973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25



The given diagram represents a reversible Carnot cycle for an ideal gas. Determine the thermodynamic efficiency of the

engine.
A
i otherm: T = 1000 K
-
Heal absorbed = 150 kJ
Adiabatic = .
N
B
Ackabatic
D
Isotherm: T = 200 K TG

Options :
1. #® 50%

2 #® 60%
3 % T70%

4 & 80%

Question Number : 137 Question Id : 7532292973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fear 71T 3N T WY A F T 3T FEe 9% # AENT F:aT g1 S99 FT FEAETSRE
ZeTar (thermodynamic efficiency) #r TomaT FifsT)

A
tsotherm: T = 1000 K
' Heat absorbed = 150 kJ
Adisbatic ;
8
Acabatic
o* |
Isolherm T = 200 K c
Options :
| % 50%
5 % B60%
s = 70%
4 v 80%

Question Number : 138 Question Id : 7532292974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The dependence of the equilibrium constant on the temperature is expressed by the Van’t Hoff equation using L e

Chatelier’s principle. Select the correct statement from the following.



Options :
| Exothermic reactions: increased temperature favours the reactants.

, % Endothermic reactions: decreased temperature favours the products.
; % Exothermic reactions: decreased temperature favours the reactants.

4 % Endothermic reactions: increased temperature favours the reactants.

Question Number : 138 Question Id : 7532292974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT WX AT TR (equilibrium constant)dr ReRar T 9T @19 THEOT @R a-aafew & Tuw
T IYAT FF =TFT [Far Sar g1 2w ey F =@ d ¥ g sy = s v

Options :

JWW:W@WMHWW%]

l. %

Fearener AT uer 3T ATIA 3CUET T THYT FIT &)

- Fearerdr AR e gHT TTHI HRAT H FHAT LT 2

FoaTeidT HIATFTT: T g3 A HFTET F1 THYT T 2

Question Number : 139 Question Id : 7532292975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following is incorrect regarding Debye-Huckel limiting law

Options :

| % Itisvalid for concentrated solutions only because at higher concentrations the value never exceeds unity

» w Itisvalid for dilute solutions only because at higher concentrations the value even exceeds unity in some cases

3« Itisvalid for dilute solutions only because at lower concentrations the value even exceeds unity in some cases

4 % Itisvalid for concentrated solutions only because at lower concentrations the value never exceeds unity

Question Number : 139 Question Id : 7532292975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

EEFT & AT ST & T8U 7 97 #§ ¥ 39 °@ 599 38T 7

Options :

|« T Fad "y Fewar # v A g =6 359 d@gar W A w5 of v @ 50 @ g g

Tg Fae e [Fad=r & v AT § #6359 Wear A A9 Fo ufad # v @ o 340w g s
2% 8

Tg Faer d [Fagat & v AT § #1ife FH H@edl W AT Fo 2ufadl # v & off 310 g Srar
v 8

, » TE Fad " Rewsr & Qv Aew g #70F $7 FEar | A i o v F 3470% F@ g 7




Question Number : 140 Question Id : 7532292976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A cell is given as follows: Pr:H,(R).HCL Hy(P):Pr ar 25°C if P = 600 torr and P> =400
torr, determine the EMF of the electrode-concentration cell?

Options :
|« 5.19x107°F

) % 8.32x107°F
3 % 1.51x107°V

4% 6.74x107°V

Question Number : 140 Question Id : 7532292976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U O § FEiOT TR A &7 18 & ProH,(B).HCL H,(P,):Pt af 25°C
afc Py = 600 TR 3T P, = 400 TX &, aF Sooeis-Aigar A (electrode-concentration cell) &7

EMF =T grem?

Options :
L« 5.19x107%

» % 8.32x107°V

3 % 1.51x107°V



4 % 6.74x107°V

Discipline3
Group Number : 8
Group Id : 753229162
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 753229162
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 753229195
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 7532292977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the half-life t;, of a reaction of order n, with all reactants having an initial concentration ay.
Options :

EH—E _1

t,=—————
" kay (n-1)

1. ¢

(S

g 27 -1
* ka’(n-1)

n+l
2 -1

27 -1

T e e
4% kay ™ (n+1)

Question Number : 141 Question Id : 7532292977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FH n e 38 AdfHATFAT F FE-3Y (4y),) FTT Fiow, e wft wfFEwe H af@E dea a) &

Options :

EH—E _1

ka! ™ (n-1)

!"5'\_
oo

1. ¢

a7 3

[ =——
0B . kﬂ;(n—l)
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Question Number : 142 Question Id : 7532292978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following graphical representation shows the second order reaction
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Question Number : 143 Question Id : 7532292979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

A reaction obeys the stoichiometric equation
A+2B — 2C,

Rates of formation of C at various concentrations of A and B are as follows:

[Al/mol dm~ [B]/moldm~ Rate/moldm s

3.5 %107 2:3 % 1072 5.0 %107
7.0 x 1072 4.6 %107 2.0%107°
7.0 x 107 9.2 x 10™ 4.0%10°

What is the rate equation?

Options :
| rate = .ﬂ'r{_—;{]l [B}:
- rate= k[ 4][ B]

te = k[ 41 [ BT
L w rate .tr[][]



rate = k] 4] [BT
, me=A ]
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Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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[Al/mol dm~ [B]/moldm~ Rate/moldm s
3.5 x 107 2.3 %107 s o |
7.0 x 107 4.6 %107 2.0 %107
7.0 % 107 9.2 x 10~ 4.0%10°

g (rate)sHT WHIHIUT FAT T2
Options :

e k[ 4] [B]

, o rate=k[4] 5]

- rate=.7t[_{]1[B]1

L w rate = f:fE-‘I]l[B]s



Question Number : 144 Question Id : 7532292980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Calculate the frequency and wavelength of the photon emitted when this particle goes from the n =2 to the n=1 level. If

the particle of mass 4x10™g s in a one-dimensional box of length 3 angstroms.
Options :

L% 0.0690=10"5"

5 w 69%10"s

0.0069:x10% 5"
®

4. 0.060=10"s"

Question Number : 144 Question Id : 7532292980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

L% 0.0690=10"5"

5 % 6:9x10"s"

0.0069=10%5"
%



4. 0.060=10"s"

Question Number : 145 Question Id : 7532292981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The value of [_5 d] e
g

Options :

Question Number : 145 Question Id : 7532292981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 146 Question Id : 7532292982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the force constant of €70 ?

Given that the strongest infrared band of
i S 7, occurs at & =2143cm™

Options :
1 ® 1562 N/m

> % 1689 N/m
3 % 1797 N/m

4 « 1855 N/m

Question Number : 146 Question Id : 7532292982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘c o g fAgais Far gem? fGur mar g 6

‘CUOFT GFEdH HalFd d5 0 =2143cm” gy FAT g

Options :
| % 1562 N/m

5 % 1689 N/m

s % 1797 Nim



4 v 1855 N/m

Question Number : 147 Question Id : 7532292983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following.

Molecule | Ground Term

| Bz a-lE._l_
8

ii. Ny | ¢TI

8

L ...] W)
iv.OF | d-°%7

O

Options :
|« I-b. li-a, iii-d, iv-c

) w I-d, ii-a, ili-a, iv-C
3 % I-a, 1i-b, iii-d, iv-¢

4 % I-c, 1i-a, lil-d, iv-d



Question Number : 147 Question Id : 7532292983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g =t gafoa sifsu

Molecule | Ground Term

IBE a_l"‘ﬂ'

i . C, b 3%

ii. Ny | ¢ Il

: T
iv.0f | d.°%7

Options :
| v I-b, ii-a, iii-d, iv-c

, % I-d, ii-a, iii-a, iv-c
3w I8, ii-b, iii-d, iv-c

4 % i, ii-a, iii-d, iv-d

Question Number : 148 Question Id : 7532292984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The co-catalyst used in the Wacker process is:
Options :

| % palladium(II) chloride

5> « copper(II) chloride

3 % nickel(IT) chloride

4 % cobalt(Il) chloride

Question Number : 148 Question Id : 7532292984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T 9feFar (Wacker process) & IgFd HE-3c9TF gl
Options :

|« TA3EH (I) FERTES

5 o B (1) FNTES
\ T (Il) FoinEs

4 « HEmee (I) FRTEs

Question Number : 149 Question Id : 7532292985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The moisture restoration in the herd is done with:
Options :
|« sodium polysulphide

» % sodium pyrophosphate

3 % sodium fulminate

4 % sodium dithionate

Question Number : 149 Question Id : 7532292985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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, « TISTH SEfETee

Question Number : 150 Question Id : 7532292986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The type of glass with very low thermal expansion coefficient is:
Options :
| = Jena glass

, % Flint glass
3 « Pyrex glass

4 % Crooke’s glass

Question Number : 150 Question Id : 7532292986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 151 Question Id : 7532292987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The space filling model of molecules is also known as:
Options :
1 % CIP model

2« CPK model
3 % Dreiding model

4 % Lennard-Jones model

Question Number : 151 Question Id : 7532292987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3opst % FE o Aisa @ & T H Y FA 1T B
Options :

| % CIP #ATsa

Question Number : 152 Question Id : 7532292988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The limiting number of atoms for computing and plotting the dimension of potential energy surface is:



Options :

1 ® 2

2.4 3

Question Number : 152 Question Id : 7532292988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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(limiting number)
Options :

| % 2

Question Number : 153 Question Id : 7532292989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The main reason for using computational methods in chemistry is:
Options :

| # accurate results



> % faster results

3 economic efficiency

4 % possibility to do difficult calculations

Question Number : 153 Question Id : 7532292989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T e & @b BfaEt (computational methods)®T 39T I T qET FHROT gl

Options :

| % HoE 9RUMH 9od T

, x 9fEAT ¥ ORUTH 9Teg ST

3 o A olleld

% STeel MUY I I Tea=T
4

Question Number : 154 Question Id : 7532292990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following does NOT affect molecular modelling?
Options :

| w Freeenergy



»  Solubility

3 % Solvation

4 % Solid state defects

Question Number : 154 Question Id : 7532292990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 155 Question Id : 7532292991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The temperature at which external Brownian movement starts in polymers is called:
Options :

| % melting point

» % boiling point



3  glass transition point

4 % freezing point

Question Number : 155 Question Id : 7532292991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 156 Question Id : 7532292992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reaction by which polyurethane is synthesised is:
Options :

| % addition

»  bolyaddition



3 % condensation

4 % coordination

Question Number : 156 Question Id : 7532292992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 157 Question Id : 7532292993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The anti-knocking agent with the highest octane number in the following is:
Options :

| = diethyl ether

> % ethanol



3 % toluene

4 methyl t-butyl ether

Question Number : 157 Question Id : 7532292993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 158 Question Id : 7532292994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most atom economic process in the following is
Options :

| % Dehvdrohalogenation of an alkyl halide

»  Ring opening polymerization of a lactam



5 % Electrophilic substitution in aromatic systems

4 % Condensation reaction between a diacid and diamide

Question Number : 158 Question Id : 7532292994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 159 Question Id : 7532292995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The emitter used in SEM is made up of
Options :

|« Tungsten

> % Rare earth oxides



3 % Silicon carbide

4 % Boron nitride

Question Number : 159 Question Id : 7532292995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 160 Question Id : 7532292996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The condition for using metal nanoparticles as pigments is:
Options :

| % They should have 1D structure

, % They should have very small band gap energy



3  The surface plasmon resonance should be in the visible range

4 % They should have quantum confinement

Question Number : 160 Question Id : 7532292996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 161 Question Id : 7532292997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT true about eutrophication?
Options :

| = Itisthe algal bloom in water bodies.

» % Nitrates are one of the reasons for it.

5 % Agricultural land drainage causes it.

4 1t supports the aquatic organisms.

Question Number : 161 Question Id : 7532292997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 162 Question Id
Orientation : Vertical

INOT T B

: 7532292998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT a chemical hazard?

Options :
| Toxicity

» % Corrosivity
3 % Flammability

4 Volatility

Question Number : 162 Question Id

: 7532292998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

w TersTeFdar (Toxicity)

1.

. 8TFHNT (Corrosivity)

2.

, » Saereeierar (Flammability)

4 TeTeiEEr (Volatility)

Question Number : 163 Question Id : 7532292999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The water disinfectant that imparts good taste to treated water is:
Options :

1 % chlorine

). % ozZone
3 « chloramine

4 % bleaching powder

Question Number : 163 Question Id : 7532292999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 164 Question Id : 7532293000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of carbon atoms in aviation fuels is
Options :

L« 11 & 12

Question Number : 164 Question Id : 7532293000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

L v 11 3T 12

> % 13 - 17
3‘335-10
4 % 18 - 25

Question Number : 165 Question Id : 7532293001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One of the extensively used alcohols for preparation of fragrances is
Options :

| = Ethylalcohol

»  1sopro pvl alcohol

3 % Isoamyl alcohol

4 % Benzyl alcohol

Question Number : 165 Question Id : 7532293001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 166 Question Id : 7532293002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The metabolism by which 2.4-D is degraded in our body is:
Options :

|« PB-Oxidation

» % P-Elimination
3 % P-Insertion

4 % o-Elimination

Question Number : 166 Question Id : 7532293002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TATI=T g, T3EF GaRT gAY 2R F 2,4-D F 3IHHUT (degraded) 21T &

Options :

| v B-3TEFHEIETIOT (Oxidation)

5 % p-3=HeI= (Elimination)

3 % B-TTFAeT (Insertion)

4% a-3eHeld (Elimination)

Question Number : 167 Question Id : 7532293003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The effect of organophosphates in the body is..........
Options :

|+ Inhibition of acetylcholinesterase

, % Suppression of central nervous system
5 % Hemotoxicity

4 % Cytotoxicity

Question Number : 167 Question Id : 7532293003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 168 Question Id : 7532293004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pH of a solution containing equal volumes of 0.2 M sodium propionate and 0.1 M propionic acid is ............ (The
dissociation constant of propionic acid is 1.35 % 10)

Options :

1. ® 4.51

5> & 5.16

LN

3 #® 3.54

4 % 6.57

Question Number : 168 Question Id : 7532293004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



v Feaa TEF 02 M BItg8 A 3R 01 M R s sUeT AT H g, T pH
BTl (AR e T e s 1.36 x 100 )

Options :
| % 4.51

, v 5.16
s % 5.54

, % 857

Question Number : 169 Question Id : 7532293005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The parameter that is not coming under scope of analytical chemistry is
Options :

| % Quality control

, % Pollution monitoring
3« Lreatment of flue gases

4 % Geological assays

Question Number : 169 Question Id : 7532293005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 170 Question Id : 7532293006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The technique in which sample is lost after analysis is
Options :

| ® NMER. spectroscopy

» % Colorimetry
3 Mass spectrometry

4 % IR spectroscopy

Question Number : 170 Question Id : 7532293006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % NMR Faeraremrdr
3, v FTE FEEEIH
4w IR FOFEIERT

Question Number : 171 Question Id : 7532293007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A dve solution transmits 20% of the radiation of wavelength 440 nm. The absorbance of the solution is
Options :

| % 0.55

5> % 0.20
3 @ 0.70

4 % 0.80

Question Number : 171 Question Id : 7532293007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T =12 fAeas 440 nm ST F BT 1 20% "=iE Far @1 e
FT 3FTNNUI(absorbance)@FaaT g m?

Options :
| % 0.55

, % 0.20
;v 0.70

4. % 0.80

Question Number : 172 Question Id : 7532293008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The logical way used to arrive at conclusions after the experiments or trials is called
Options :

1 % Research method

»  Research methodology

5 % Research process

4 = Research design

Question Number : 172 Question Id : 7532293008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 173 Question Id : 7532293009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a reliable source of information?
Options :

| = Encyclopaedia

> % Research articles

3 % Monographs

4 v Wikipedia

Question Number : 173 Question Id : 7532293009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % TEeSeRe

5 % 2MET HTE
3 % FAFETS

4 v SR

Question Number : 174 Question Id : 7532293010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reagent used for detecting cholesterol in serum is;
Options :

1 % trichloroacetic acid

» % conc. nitric acid and cone. sulphuric acid
3 % Phenol and conc. sulphuric acid

4  acetic anhydride and conc. sulphuric acid

Question Number : 174 Question Id : 7532293010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 175 Question Id : 7532293011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reagent used to determine glucose in blood is:
Options :

| % aniline

> % benzidine

3 % o-ortho phenvlenediamine

4 « o-toluidine

Question Number : 175 Question Id : 7532293011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

| % Tl (aniline)
, % Se=iEes (benzidine)

s O-3Tl HAAFIFTAR (0-ortho phenylenediamine)

L o-gegEA (o-toluidine)

Question Number : 176 Question Id : 7532293012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Match the following.

1. Idoxuridine A. Antianginal

2. Cyclophosphamide B. Anti-hypertensive
3. Aldomet C. Antiviral

4. Glyceryl trinitrate D. Antineoplastic

Options :
| 1-C,2-D,3-B,4-A
) % 1-A,2-C,3-B,4-D

;% 1-D,2-C,3-B,4-A

4 % 1-B.2-C,3-A,4-D



Question Number : 176 Question Id : 7532293012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rrfaae & gafee S

1. HTESTEg ST A. TaCTaae
> WEFGIBIERATEE B. Ta-geweaT

3 TEEHT C. W& anRRa
. Fowde ffve  D. tafRaies
Options :

o EF-DE-H4-A
, x B A FCB:-B4-0
x -0 3-88-H4-Aa

(xB:BE-C8:-24-0

Question Number : 177 Question Id : 7532293013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The most potent analgesic in the following list is
Options :

| % Morphine



> % Codeine
3.« Heroin

4 % Nalorphine

Question Number : 177 Question Id : 7532293013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frefofEa o= F geg afFqere fsene (taeatas)sia a1 g2
Options :

. HAHa (Morphine)

1.

. st (Codeine)

2.

; v 8% (Heroin)

., #eifher (Nalorphine)

4.

Question Number : 178 Question Id : 7532293014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The wavelength of electron can be determined by:
Options :

| % Schrodinger's experiment



,  Davisson-Germer experiment

5 % Millikan's oil drop experiment

4 % gold foil scattering experiment

Question Number : 178 Question Id : 7532293014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soleald #T gy & Zarr o f&rar =1 wemar B

Options :

1. % IR F g2d@=T
5 v STAUA-SET F gaT

, x THTCERS W oo qg T

4. % O F T F THUA FT FIRT

Question Number : 179 Question Id : 7532293015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bond dissociation energy of N> molecule is 945.6 kJ mol™!, whereas for NO, it is 667.8 kJ mol™! only. The reason is
Options :

| % NO Is paramagnetic



o % NO is heteronuclear

3« NO has an additional electron in the antibonding level

NO has both atoms in s, hybridization

Question Number : 179 Question Id : 7532293015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

N, 307 $r Fer s F=7 945.6 kd mol™! &, 9% NO & o g F7 667.8 kJ mol™! &1 =T =2

hILOT
Options :

LQNDH@W%

, « NO Rwmafadm g

; » NO # gfa-3maus T # & #faliaa soraeia gar §

L w NO & s, HHIUT H gl LA & &

Question Number : 180 Question Id : 7532293016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the shape of sulphur hexafluoride molecules?
Options :

| % Tetrahedral



2 ® Cubic
3 « Octahedral

4 % Irigonal antiprismatic

Question Number : 180 Question Id : 7532293016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HEHY FFATFAINIGS HUHT T HIHR ST Ear g7

Options :

TTFeln g (Tetrahedral)

1. % 2

, % =g (Cubic)

3 @ AR (Octahedral)

, » Tl RS (Trigonal antiprismatic)
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Question Number : 181 Question Id : 7532293017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Water contracts on heating in a temperature range of;
Options :

1.« 0to4°C

7 ® —510—2°C
3 % —10to0°C

4 % 3to8°C



Question Number : 181 Question Id : 7532293017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% H AIAA WA H TH A W TS dpiad v gl
Options :
L v 0@ 4°C

, # =5 ® -2°C
;% =10 & 0°C

4 % 5 & 8°C

Question Number : 182 Question Id : 7532293018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In HF molecule, the internuclear distance is 0.92 A, For 100 % ionic structure the dipole moment is expected to be 4.42
D. If the experimental dipole moment of HF is 1.98 D, the percentage covalent character of the bond is:

Options :
1% 45

N

5

2.¥

O8]
8
|
Lh



Question Number : 182 Question Id : 7532293018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HF 3701 #, seafeasr gif 0.92 A 81 100% 3afas o3 & fow HTEoT 4.42 D @ #
3FE B HF &7 Saiiere giayara 3meeT 1.98 D ¥, af §¢ &1 Siasid Hgadieis 3% (character

) gl

Options :
| = 45

7 « Bb
3 % /D

4 % 62

Question Number : 183 Question Id : 7532293019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Alkali metals dissolve In ammonia to form blue solutions because of the formation of
Options :
| % ammine complex

7 « ammoniated electrons
3 % reduction of ammeonia

4 % alkali metal ions

Question Number : 183 Question Id : 7532293019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST OV AT H Foad Al Toorde saral §,feea A § o AT & Sror Tar #@9F ger 82

Options :

|« U FFEceed (ammine complex)

_ FAIAATgFT Selegia (ammoniated electrons)

3

4, %

Question Number : 184 Question Id
Orientation : Vertical

 3HAIAAT % HI=I (reduction of ammonia)

&R 91 318 (alkali metal ions)

: 7532293020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Correct Marks : 1 Wrong Marks : 0.25
The ionic conductance in water is maximum for:

Options :
% Li(I) ion

» % Na(I)ion
& Cs(I) ion

3

4 % Rb(I)lon

Question Number : 184 Question Id

: 7532293020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

o= 7§ T yofas araesar o= #§ 3saR g 87

Options :
| » Li() 3ma=

.« Na(l) 3ma=

1 v Csll) 3o

, « Rb(l) 3T

Question Number : 185 Question Id : 7532293021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tetra-calcium aluminoferrite is commonly known as:
Options :

1 #® corundum

)« cement
5 w Plaster of Paris
4 % apatite

Question Number : 185 Question Id : 7532293021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



EIT-FTRTA TogfAAIGISE Fl HHI: F T H AT ST 2
Options :

1_33@1-3?[
) v THE
3 % SETEEY HIE URH

4« THERE

Question Number : 186 Question Id : 7532293022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Boron trifluoride imparts colour to a flame.
Options :

| bright green

, % Yyellow

3 % crimson

4 % lilac

Question Number : 186 Question Id : 7532293022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



ST IEFARSE ot @ T 91 LT 2
Options :

| v THESE &
2. % Hrem

3w Jlord#d

R cucic

Question Number : 187 Question Id : 7532293023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Neon is not known to form any compound with even fluorine, the reason is
Options :

| = Higher electronegativity

» « Higher lonization energy and absence of vacant d orbitals
;. % Completely filled p orbital

4 % Effective shielding by 2s electrons

Question Number : 187 Question Id : 7532293023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T, Tl & Ty wa Fis i FET ST &, SHeRT ST SHe gl

Options :

e B ECUREAMICEC
2¥3ﬁmmaﬂ?ﬁﬁdﬁmﬁ#$§m

, T T F AT g2 p Fal

3.

4 % 25 FORRCIA SINT TSI TRET0T

Question Number : 188 Question Id : 7532293024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reagent used to determine the number of vicinal hydroxy groups in organic molecules is:
Options :

| w hitrosyl chloride

) % osmium tetroxide
3 beriodic acid

4 % Dotassium permanganate

Question Number : 188 Question Id : 7532293024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Frafaes HoE d ffae gegedr gagh & v Fuia s F v ggFa afawds gl
Options :

|« AESRS FARES
), » HITEHTH TTaAES
; v SRR ofds

4w IERATF TEEIHE

Question Number : 189 Question Id : 7532293025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the shape of chlorine trifluoride?
Options :

| % Pyramidal

» % Irigonal
5 w Irigonal bipyramidal

4 « 'T'shaped

Question Number : 189 Question Id : 7532293025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % TufaE & g
, % Deeof

|« P aRRRfEE

4 v T AFR F

Question Number : 190 Question Id : 7532293026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an example for an ambidentate ligand?
Options :

1. # Oxalate

, % EDTA

3 % Ethylene diamine

4 « Nitrite ion

Question Number : 190 Question Id : 7532293026 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
=R dasaar ERDEGED HeedT (ambidentate ligand) =T T 381@I0T 27




Options :

1_w3ﬁ3=5|312'
, » EDTA
3.3312'@?&?1'3'@:’?:?!?!'

4 TIBeRC A=A

Question Number : 191 Question Id : 7532293027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is an octahedral species with zero CFSE value?
Options :

| % Vanadyl ion

) Manganese(II) ion
3 % Nickel(II) ion

4 % Copper(Il) ion

Question Number : 191 Question Id : 7532293027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f==faf@a & & +ia @7 =7 CFSE A e 37scherend J97 g7

Options :




| % dSTETe e
5 o HES (1) s
s x feeRer (1) 3T

4 % FET ()

Question Number : 192 Question Id : 7532293028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Assume the spinel formed by Mn(II) and Fe(III) ions. The nature of spinel will be:
Options :

| % normal

) ® Inverse
3  Dartially inverse

4 % unstable

Question Number : 192 Question Id : 7532293028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

71T e & Baaer Mn(ll) 31 Fe(lll) 3=t gart @fFT 81 59 Eaae i goia
g

Options :



Question Number : 193 Question Id : 7532293029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A black crystalline compound which can form a stable mono-positive ion in the following is:
Options :

1 ® ferrocene

> % titanocene dichloride
3 « cobaltocene

4 % titanocene

Question Number : 193 Question Id : 7532293029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o & § 37 O 98 o7 Bread I & 3 TR AEaieied dUa 99T S6aT 87

Options :

|« BUHEE (ferrocene)




5 % aEcAIGIA SIEFAss (titanocene dichloride)
, v HETeEH (cobaltocene)

, » TECA (titanocene)

Question Number : 194 Question Id : 7532293030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the macrocyclic ring present in Vitamin B12?
Options :

| = Porphyrin ring

,  Corrin ring

5 » Phthalocyanine ring

4 % Cryptand ring

Question Number : 194 Question Id : 7532293030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fr=fafee 7 & #i= @ fu=dr Rer fafae B12 # Aisg @ar 82
Options :

. oSSR R
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Question Number : 195 Question Id : 7532293031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The system that CANNOT undergo oxidative addition reaction is:
Options :

| % NI(II)

» % Cu()

3 Zdl)

4 % Ti(ID)

Question Number : 195 Question Id : 7532293031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tg womel T F @ FiF °@ g, e o @ F aE qer w82

Options :
| w Ni(n



, % Cu(ll

1 v Zn(ll)

4 % Ti(ll)

Question Number : 196 Question Id : 7532293032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following models best explains the bonding in metal-alkene complex?
Options :

|« Dewar-Chatt-Duncanson model

7 % Chevrel model

3 % Crystal field model

4 % Angular overlap model

Question Number : 196 Question Id : 7532293032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=fafEa &7 O ST O AT ATA-Tedhld FFcoad H -2 #T TaU J=o! OIEdT HIaT 872

Options :
| v 3I-TFE-EFAA HAlsd (Dewar-Chatt-Duncanson model)

, % A ABA (Chevrel model)



, » fFed Heg Alse (Crystal field model)

. TIET HaTelT ATser (Angular overlap model)

Question Number : 197 Question Id : 7532293033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ferroelectric materials are characterised by:
Options :

| % low permittivity

» % Do residual polarisation after field removal
3 hysteresis loop on reversing the polarity

4 % permanent screw dislocation

Question Number : 197 Question Id : 7532293033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

igaFes verdl & fevar Fr &2

Options :
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Question Number : 198 Question Id : 7532293034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ilmenites have structures closely related to:
Options :

1« corundums

> % diamonds

5 % garnets

spinels

Question Number : 198 Question Id : 7532293034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SeRAEed Fr AT * @A g 8

Options :

| PEH (corundums)

, » BIX (diamonds)



, x TFAHATT (garnets)

, « I (spinels)

Question Number : 199 Question Id : 7532293035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The approximate percentage of aluminium(III) replaced by Cr(III) in ruby laser is:
Options :

1.« 0.02 to 0.05%

» % 0.011t00.015 %
3 % 0.1t002%

4. % 0.001 to 0.002 %

Question Number : 199 Question Id : 7532293035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& oo # Cr(lll) E@RT SfaEia vegsEiwas () & Femster Siaerd fhaer g g2

Options :
|« 0.02 ¥ 0.05%

, % 0.01 & 0.015%

;% 0.1/ 0.2%



4 % 0.001 & 0.002%

Question Number : 200 Question Id : 7532293036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Neel temperature of the following oxides is in the order MnO > FeO = CoO = Ni10O which is due to;
Options :

| Increasing overlap between the orbitals of metal and oxide ion

, % Decreasing size of the metal ions

3 # More number of defects

4 % Increasing probability for the electron hopping

Question Number : 200 Question Id : 7532293036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e stearssl & Jier J9aET MnO > FeQ > CoO > NiO &5 & &, =t ¥ FIOT T 2
Options :
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